Submission folder

1

Hilti HVU Adhesive Capsule with
HAS-E/ER/EF/HCR and HIS-N/RN

Sample Submission and 2-9
Approval Form

Product Information 10 - 16

Technical Information
- HVU + HAS/E/ER/EF/HCR 17 - 21
- HVU + HIS-N/RN 22 - 26

Method Statement
- HVU + HAS/E/ER/EF/HCR 27 - 28

- HVU + HIS-N/RN 29
Government Letter 30 - 31
Country of Origin 32-34
Material Safety Data Sheet 35-40
Job Reference 41 - 42

Customer Hotline
Hong Kong 8228 8118
Macau (toll free) 00800- 8228 8118

Page 1 May 2016



SAMPLE SUBMISSION AND APPROVAL FORM

Contract Title: Ref. No.:

Date:

Ref. No. of
Previous
Submission:

Contract No: )

File Reference: (2)

DETAILS OF SUBMISSION

To: Contract Manager's Representative Attention:

From:

The enclosed sample and catalogue* / certificate of origin* / technical data* / test report* / job reference* as
described below have been checked for compliance with the Specifications and Drawings, and are submitted for
approval.

1. General Information
a. Material Description HVU Adhesive Capsule

b. Location:

c. Specification Ref. Page: Item:

d. Drawing Ref. No.

e. B.Q. Ref.No.:

f. Anticipated date of approval:

2. Technical Information
The submitted sample has been checked against the specification and drawings as listed below:-

Submitted Sample

Specification Requirements (State details against each item)

a. Brand
Not specified Hilti
b. Country of Origin
Not specified Germany
c. Manufacturer’s Name & Address
Not specified Hilti Corporation, FL-9494 Principality of Liechtenstein.

d. Factory’s Name & Address(es)
Not specified Hilti Gmbh Ind. Ges. F. Befestigungstechnik
Hiltistrasse 6, D-86916 Kaufering, Germany.
e. Supplier (with Applicator, if any)
Not specified Hilti (Hong Kong) Ltd

Page 1 of 2

Page 2 May 2016



f. Appearance
Not specified

g. Color +
Not specified

h. Specification
Not specified

i. Manufacturer’s Catalogue
Not specified

j. Test Report (Original/Certificated True Copy)
Not specified

k. Previous Job Reference
Not specified

I. Supplementary Information
Not specified

According to the sample submitted

Nil

Attached

Attached

Attached

Attached

NIL

For and on behalf of the Contractor

(Quality Control Manager)

CONTRACT MANAGER’S COMMENTS
To:

From: Contract Manager’s Representative:

On the basis of the sample and information given, the above sample submitted is:

(n-* Approved.
(2)* Not approved because
Remarks:

Approval does not alter the requirements of the Contract

Contract Manager’s Representative:

Date:

CC.

(* Delete if appropriate)

(+ For glass or vitreous mosaic tiles, the contractor is required to confirm the colour range(s) of the
submitted sample, i.e. a) light and or medium; or b) dark)

Page 2 of 2

Page 3

May 2016




SAMPLE SUBMISSION AND APPROVAL FORM

Contract Title: Ref. No.:

Date:

Ref. No. of
Previous
Submission:

Contract No: )

File Reference: (2)

DETAILS OF SUBMISSION

To: Contract Manager's Representative Attention:

From:

The enclosed sample and catalogue* / certificate of origin* / technical data* / test report* / job reference* as
described below have been checked for compliance with the Specifications and Drawings, and are submitted for
approval.

1. General Information

a. Material Description HAS-E/ER/EF Anchor Rod or HIS-N/RN (M8-M24) Anchor Sleeve
b. Location:
c. Specification Ref. Page: Item:

d. Drawing Ref. No.

e. B.Q. Ref.No.:

f. Anticipated date of approval:

2. Technical Information
The submitted sample has been checked against the specification and drawings as listed below:-

Submitted Sample

Specification Requirements (State details against each item)

a. Brand
Not specified Hilti
b. Country of Origin
Not specified Republic of China
c. Manufacturer’s Name & Address
Not specified Hilti Corporation, FL-9494 Principality of Liechtenstein.

d. Factory’s Name & Address(es)
Hilti (China Zhangjiang) Co. Ltd., Yongping Road South,
Not specified Zhangjiang Development Zone, 524022 Zhangjiang,
Guangdong Province, China.

e. Supplier (with Applicator, if any)

Page 1 of 2

Page 4 May 2016



Not specified Hilti (Hong Kong) Ltd
f. Appearance
Not specified According to the sample submitted
g. Color +
Not specified Nil
h. Specification
Not specified Attached
i. Manufacturer’s Catalogue
Not specified Attached
j. Test Report (Original/Certificated True Copy)
Not specified Attached
k. Previous Job Reference
Not specified Attached
I. Supplementary Information
Not specified NIL
For and on behalf of the Contractor
(Quality Control Manager)
CONTRACT MANAGER’S COMMENTS
To:
From: Contract Manager’s Representative:

On the basis of the sample and information given, the above sample submitted is:

(1)* Approved.
2)* Not approved because
Remarks:

Approval does not alter the requirements of the Contract

Contract Manager’s Representative:

Date:

CcC.

(* Delete if appropriate)

(+ For glass or vitreous mosaic tiles, the contractor is required to confirm the colour range(s) of the
submitted sample, i.e. a) light and or medium; or b) dark)

Page 2 of 2

Page 5

May 2016




SAMPLE SUBMISSION AND APPROVAL FORM

Contract Title: Ref. No.:

Date:

Ref. No. of
Previous
Submission:

Contract No: )

File Reference: (2)

DETAILS OF SUBMISSION

To: Contract Manager's Representative Attention:

From:

The enclosed sample and catalogue* / certificate of origin* / technical data* / test report* / job reference* as
described below have been checked for compliance with the Specifications and Drawings, and are submitted for
approval.

1. General Information

a. Material Description HAS-E/ER/EF (M27-M39) Anchor Rod
b. Location:
c. Specification Ref. Page: Item:

d. Drawing Ref. No.

e. B.Q. Ref.No.:

f. Anticipated date of approval:

2. Technical Information
The submitted sample has been checked against the specification and drawings as listed below:-

Submitted Sample

Specification Requirements (State details against each item)

a. Brand
Not specified Hilti
b. Country of Origin
Not specified Hungary
c. Manufacturer’s Name & Address
Not specified Hilti Corporation, FL-9494 Principality of Liechtenstein.

d. Factory’s Name & Address(es)
Hilti Werkzeug Gmbh., Kecskemet / Szt. Istvan 17,

Not specified
Hungary.
e. Supplier (with Applicator, if any)
Not specified Hilti (Hong Kong) Ltd
Page 1 of 2

Page 6 May 2016



f. Appearance
Not specified

g. Color +
Not specified

h. Specification
Not specified

i. Manufacturer’s Catalogue
Not specified

j. Test Report (Original/Certificated True Copy)
Not specified

k. Previous Job Reference
Not specified

I. Supplementary Information
Not specified

According to the sample submitted

Nil

Attached

Attached

Attached

Attached

NIL

For and on behalf of the Contractor

(Quality Control Manager)

CONTRACT MANAGER’S COMMENTS
To:

From: Contract Manager’s Representative:

On the basis of the sample and information given, the above sample submitted is:

(n-* Approved.
(2)* Not approved because
Remarks:

Approval does not alter the requirements of the Contract

Contract Manager’s Representative:

Date:

CC.

(* Delete if appropriate)

(+ For glass or vitreous mosaic tiles, the contractor is required to confirm the colour range(s) of the
submitted sample, i.e. a) light and or medium; or b) dark)

Page 2 of 2

Page 7

May 2016




SAMPLE SUBMISSION AND APPROVAL FORM

Contract Title: Ref. No.:

Date:

Ref. No. of
Previous
Submission:

Contract No: )

File Reference: (2)

DETAILS OF SUBMISSION

To: Contract Manager's Representative Attention:

From:

The enclosed sample and catalogue* / certificate of origin* / technical data* / test report* / job reference* as
described below have been checked for compliance with the Specifications and Drawings, and are submitted for
approval.

1. General Information
a. Material Description HAS-HCR Anchor Rod

b. Location:

c. Specification Ref. Page: Item:

d. Drawing Ref. No.

e. B.Q. Ref.No.:

f. Anticipated date of approval:

2. Technical Information
The submitted sample has been checked against the specification and drawings as listed below:-

Submitted Sample

Specification Requirements (State details against each item)

a. Brand
Not specified Hilti
b. Country of Origin
Not specified Germany
c. Manufacturer’s Name & Address
Not specified Hilti Corporation, FL-9494 Principality of Liechtenstein.

d. Factory’s Name & Address(es)
Not specified Hilti Gmbh. Ind. Ges. F. Befestigungstechnik, Hiltistrasse

6, D-86916 Kaufering, Germany.
e. Supplier (with Applicator, if any)

Not specified Hilti (Hong Kong) Ltd

Page 1 of 2

Page 8 May 2016



f. Appearance
Not specified

g. Color +
Not specified

h. Specification
Not specified

i. Manufacturer’s Catalogue
Not specified

j. Test Report (Original/Certificated True Copy)
Not specified

k. Previous Job Reference
Not specified

I. Supplementary Information
Not specified

According to the sample submitted

Nil

Attached

Attached

Attached

Attached

NIL

For and on behalf of the Contractor

(Quality Control Manager)

CONTRACT MANAGER’S COMMENTS
To:

From: Contract Manager’s Representative:

On the basis of the sample and information given, the above sample submitted is:

(n-* Approved.
(2)* Not approved because
Remarks:

Approval does not alter the requirements of the Contract

Contract Manager’s Representative:

Date:

CC.

(* Delete if appropriate)

(+ For glass or vitreous mosaic tiles, the contractor is required to confirm the colour range(s) of the
submitted sample, i.e. a) light and or medium; or b) dark)

Page 2 of 2

Page 9

May 2016




Anchor Systems =111

Adhesive capsule anchor system HVU

Base materials
B Concrete (uncracked)

Applications
B Anchoring structural steel connections (e.g. steel columns,

beams, etc.) Approvals
B Anchors for road and tunnel applications (crash barriers, noise ETA | ETA-05/0255 for HVU (ETAG 001-05, Option 7)
barriers and overhead catenary systems) Approvals and test reports may apply to selected products only. Please refer

to the documents for details.
Advantages

B Flexible foil capsule instead of glass: a robust product for tough c E m
jobsite conditions

B Tested according to standard temperature curve (ISO 834) and
the German tunnel temperature curve (ZTV-ING, part 5)

B One system for all applications: a wide range of adhesive [
capsules, anchor rods, internally threaded sleeves in various L
diameters and lengths

B Anchors installed overhead don’t drop out
B Pre-measured portions in foil, no waste
B Styrene-free and odourless

Technical data

Material composition Hybrid urethane methacrylate
adhesive

Material, corrosion N/A
Seismic No These are abbreviated instructions which may vary according to the application.

- Always observe/follow the instructions accompanying the product or refer to
Fatigue No www_hilti.com/techlib.
Fire Yes
Ordering designation Drill bit diameter Standard embedment depth ::I:l:;:;ck Item number
HVU M8X80 10 mm 80 mm 10 pc 256691
HVU M10X90 12 mm 90 mm 10 pc 256692
HVU M12X110 14 mm 110 mm 10 pc 256693
HVU M16X125 18 mm 125 mm 10 pc 256694
HVU M20X170 24 mm 170 mm 5 pc 256695
HVU M24X210 28 mm 210 mm 5 pc 256696
HVU M27X240 30 mm 240 mm 4 pc 256697"
HVU M30X270 35 mm 270 mm 4 pc 256698"
HVU M33X300 37 mm 300 mm 4 pc 256699"
HVU M36X330 40 mm 330 mm 2 pc 256700"
HVU M39X360 42 mm 360 mm 2 pc 256701"

" This is a non-stock item. For detailed lead time information please contact your Hilti representative.

Page 10 May 2016

185 Hilti online: www.hilti.com.hk



=1EE=T"1 Anchor Systems

Anchor rod (5.8 carbon steel) HAS-E

[
L
Approvals Technical data
ETA (ETAG 001-05, Option 7) Head configuration Externally threaded
ETA-05/0255 for HVU (ETAG 001-05, Option 7) Material i Stool 5.6 rade 21 E——
eel, 5.8 grade, zinc-plated (min.
ETA-09/0265 for HIT-HY70 concrete (ETAG 001-5, aterial composition S grade, zinc-plated (mi
Option 7) Material i Steel, zinc-plated
, zinc-
Approvals and test reports may apply to selected products only. Please refer aterial, corrosion e c-plate
to the documents for details. Anchor type Off-the-shelf rods
c E Approvals / test reports ETA,Fire
Fire Yes
Base materials
B Concrete (cracked)
B Concrete (uncracked)
B Masonry (solid)
Ordering designation Anchor size Drill bit diameter Drilling depth eMr::ef(::::m ::;:(I:' B G Base plate clearance hole :::fﬁ':;c'( Item number
HAS-E M8X80/14 M8 80 mm 14 mm 10 mm 20 pc 332219
HAS-E M8X80/54 M8 80 mm 54 mm 10 mm 10 pc 333099"
HAS-E M10X90/21 M10 12 mm 90 mm 21 mm 12 mm 20 pc 332220
HAS-E M10X90/61 M10 12 mm 90 mm 61 mm 12 mm 10 pc 333100"
HAS-E M10X90/81 M10 12 mm 90 mm 81 mm 12 mm 10 pc 333101"
HAS-E M12X110/28 M12 14 mm 110 mm 28 mm 14 mm 20 pc 332221
HAS-E M12X110/88 M12 14 mm 110 mm 88 mm 14 mm 10 pc 333102"
HAS-E M12X110/128 M12 14 mm 110 mm 128 mm 14 mm 10 pc 333103"
HAS-E M16X125/38 M16 18 mm 125 mm 38 mm 18 mm 20 pc 332222
HAS-E M16X125/108 M16 18 mm 125 mm 108 mm 18 mm 10 pc 333106"
HAS-E M20X170/48 M20 22 mm 170 mm 48 mm 22 mm 10 pc 332223
HAS-E M20X170/68 M20 22 mm 170 mm 68 mm 22 mm 10 pc 333110"
HAS-E M20X170/108 M20 22 mm 170 mm 108 mm 22 mm 10 pc 3331117
HAS-E M20X170/158 M20 22 mm 170 mm 158 mm 22 mm 10 pc 333112"
HAS-E M20X170/208 M20 22 mm 170 mm 208 mm 22 mm 10 pc 333113"
HAS-E M24X210/54 M24 28 mm 210 mm 54 mm 26 mm 10 pc 332224
" This is a non-stock item. For detailed lead time information please contact your Hilti representative.
Anchor rod (5.8 hot-dip galvanized) HAS-E-F
[
\
Approvals Technical data
ETA (ETAG 001-05, Option 7) Head configuration Externally threaded
ETA-05/0255 for HVU (ETAG 001-05, Option 7) Niaterial - Steol 5.8 arade. hot-di vanized
eel, 5.8 grade, hot-dip galvanize:
ETA-09/0265 for HIT-HY70 concrete (ETAG 001-5, aterial composition (i 43 o) Po
Option 7) -
j i Steel, sherardized / hot-di Ivanized
Approvals and test reports may apply to selected products only. Please refer Material, corrosion eel, sherardized /hot-dip galvanize
to the documents for details. Anchor type Off-the-shelf rods
Cc B i e
Installation direction All
Base materials
B Concrete (cracked)
B Concrete (uncracked)
B Masonry (solid)
Ordering designation Anchor size Drill bit diameter Drilling depth :I;z;ﬂ:"t::: ;Ili::(hness L Base plate clearance hole ::Le:ﬁ'::(;k Item number
HAS-E-F M10X90/61 M10 12 mm 90 mm 61 mm 12 mm 10 pc 333146"
HAS-E-F M12X110/28 M12 14 mm 110 mm 28 mm 14 mm 20 pc 333148"
HAS-E-F M12X110/88 M12 14 mm 110 mm 88 mm 14 mm 10 pc 333149"
HAS-E-F M16X125/20 M16 18 mm 125 mm 20 mm 18 mm 10 pc 333152"
BTge 11 P Mayl2016

Customer Hotline: Hong Kong 8228 8118 Macau 00800 8228 8118 186



Anchor Systems =111

Max. fixture thickness at standard Sales pack

Ordering designation Anchor size Drill bit diameter Drilling depth embedment depth Base plate clearance hole quantity Item number
HAS-E-F M16X125/38 M16 18 mm 125 mm 38 mm 18 mm 20 pc 333153"
HAS-E-F M16X125/348 M16 18 mm 125 mm 348 mm 18 mm 10 pc 333157"
HAS-E-F M20X170/48 M20 24 mm 170 mm 48 mm 22 mm 10 pc 333158"
HAS-E-F M20X170/108 M20 24 mm 170 mm 108 mm 22 mm 10 pc 333160"
HAS-E-F M24X210/54 M24 28 mm 210 mm 54 mm 26 mm 10 pc 333163"
" This is a non-stock item. For detailed lead time information please contact your Hilti representative.
Anchor rod (A4 stainless steel) HAS-E-R
|
\
Approvals Technical data
ETA (ETAG 001-05, Option 7) Head configuration Externally threaded
ETA-05/0255 for HVU (ETAG 001-05, Option 7) - —
ETA-09/0265 for HIT-HY70 concrete (ETAG 0015, _Material composition Steel, A4 85316
Option 7) Material, corrosion Steel, stainless
Qp&rg\ée:)l(s: 3:]: r:?:tf ;:ez(;:t;l :ay apply to selected products only. Please refer Anchor type Off-the-shelf rods
Approvals / test reports ETA,Fire
C E Fire Yes
Base materials
Bl Concrete (cracked)
B Concrete (uncracked)
H Masonry (solid)
Ordering designation Anchor size Drill bit diameter Drilling depth eMr:E;egz::;i :’I:;;ness gl Base plate clearance hole ::I;sﬁﬁck Item number
HAS-E-R M8X80/14 M8 10 mm 80 mm 14 mm 9 mm 20 pc 333119
HAS-E-R M8X80/114 M8 10 mm 80 mm 114 mm 9 mm 10 pc 333121"
HAS-E-R M10X90/21 M10 12 mm 90 mm 21 mm 12 mm 20 pc 333122
HAS-E-R M10X90/61 M10 12 mm 90 mm 61 mm 12 mm 10 pc 333123"
HAS-E-R M12X110/28 M12 14 mm 110 mm 28 mm 14 mm 20 pc 333126
HAS-E-R M12X110/88 M12 14 mm 110 mm 88 mm 14 mm 10 pc 333127
HAS-E-R M12X110/128 M12 14 mm 110 mm 128 mm 14 mm 10 pc 333128"
HAS-E-R M12X110/168 M12 14 mm 110 mm 168 mm 14 mm 10 pc 333129"
HAS-E-R M16X125/38 M16 18 mm 125 mm 38 mm 18 mm 20 pc 333131
HAS-E-R M16X125/108 M16 18 mm 125 mm 108 mm 18 mm 10 pc 333132"
HAS-E-R M20X170/48 M20 24 mm 170 mm 48 mm 22 mm 10 pc 333135
HAS-E-R M20X170/108 M20 24 mm 170 mm 108 mm 22 mm 10 pc 333136"
HAS-E-R M24X210/54 M24 28 mm 210 mm 54 mm 26 mm 10 pc 333137
HAS-E-R M27X240/60 M27 30 mm 240 mm 60 mm 30 mm 4 pc 333138"
HAS-E-R M30X270/70 M30 35 mm 270 mm 70 mm 33 mm 4 pc 333139"
HAS-E-R M33X300/80 M33 37 mm 300 mm 80 mm 36 mm 4 pc 333140"
HAS-E-R M36X330/90 M36 40 mm 330 mm 90 mm 39 mm 2 pc 3331417
HAS-E-R M39X360/100 M39 42 mm 360 mm 100 mm 42 mm 2 pc 333142"
" This is a non-stock item. For detailed lead time information please contact your Hilti representative.
Page 12 May 2016

187 Hilti online: www.hilti.com.hk



| [ 13% g gl | Anchor Systems

Anchor rod (high corrosion resistance) HAS-E-HCR

Approvals
ETA

(ETAG 001-05, Option 7)

ETA-09/0265 for HIT-HY70 concrete (ETAG 001-5,
Option 7)

Technical data
Head configuration

Externally threaded

Material composition

Steel, high corrosion resistant (HCR)

Approvals and test reports may apply to selected products only. Please refer

to the documents for details.

q3

Ordering designation

HAS-E-HCR M10X90/21

HAS-E-HCR M12X110/28
HAS-E-HCR M16X125/38
HAS-E-HCR M20X170/48

Anchor size

M10
M12
M16
M20

Drill bit diameter

12 mm
14 mm
18 mm
22 mm

Drilling depth

90 mm
110 mm
125 mm
170 mm

Material, corrosion Steel, high corrosion resistant (HCR)
Anchor type N/A

Approvals / test reports ETA

Installation direction All

Base materials

B Concrete (cracked)
Bl Concrete (uncracked)
B Masonry (solid)

" This is a non-stock item. For detailed lead time information please contact your Hilti representative.

Internally threaded sleeve (5.8 carbon steel) HIS-N

Af\ A

\ m V \/

Approvals
ETA

| (ETAG 001-05, Option 7)

:::z;g::::: ;I:::;ness atisniad Base plate clearance hole ::Le:tig;(:k Item number
21 mm 12 mm 10 pc 229505"
28 mm 14 mm 10 pc 229506"
38 mm 18 mm 5 pc 229507"
48 mm 22 mm 5pc 229508"
Technical data
Head configuration Inner thread

Approvals and test reports may apply to selected products only. Please refer

to the documents for details.

e B

Ordering designation

HIS-N M8X90

HIS-N M10X110
HIS-N M12X125
HIS-N M16X170
HIS-N M20X205

Anchor size

M8

M10
M12
M16
M20

Drill bit diameter

14 mm
18 mm
22 mm
28 mm
32 mm

Material composition

Steel, 5.8 grade, zinc-plated (min. 5
um)

Material, corrosion

Steel, zinc-plated

Anchor type Internally threaded
Approvals / test reports ETA
Fire Yes

Base materials
Bl Concrete (uncracked)

Base plate clearance hole

9 mm
12 mm
14 mm
18 mm
22 mm

" This is a non-stock item. For detailed lead time information please contact your Hilti representative.

Customer Hotline: Hong Kong 8228 8118 Macau 00800 8228 8118

Page 13

Sales pack

quantity Item number

10 pc 258015"

10 pc 258016"

5pc 258017

5 pc 258018

5pc 258019"
May 2016

188




Anchor Systems =111

Iinternally threaded sleeve (A4 stainless steel) HIS-RN

N
L )

Approvals Technical data

ETA | (ETAG 001-05, Option 7) Head configuration Inner thread

Approvals and test reports may apply to selected products only. Please refer - —

to the documents for details. Material composition Steel, A4 (SS316)
Material, corrosion Steel, stainless

C E m Anchor type Internally threaded
Approvals / test reports ETA
Fire Yes

Base materials
Bl Concrete (cracked)
B Concrete (uncracked)

Ordering designation Anchor size Drill bit diameter Base plate clearance hole ::Lelfﬁ'::c'( Item number
HIS-RN M8X90 A4 M8 14 mm 9 mm 10 pc 258024"
HIS-RN M10X110 A4 M10 18 mm 12 mm 10 pc 258025
HIS-RN M12X125 A4 M12 22 mm 14 mm 5 pc 258026
HIS-RN M16X170 A4 M16 28 mm 18 mm 5 pc 258027"
HIS-RN M20X205 A4 M20 32 mm 22 mm 5pc 258028"

" This is a non-stock item. For detailed lead time information please contact your Hilti representative.

Page 14 May 2016

189 Hilti online: www.hilti.com.hk



Anchor Systems =111

Accessories for blowing out drilled holes Hilti HIT

Applications Technical data
B For fast and efficient removal of dust and debris from drilled Dispenser, setting tool, accessory, Cleaning accessories
holes of varying diameters and depths to allow correct installa- tester type

tion of anchors and rebar

Sales pack

Ordering designation quantity ltem number
Blow-out pump 1pc 60579
Extension tube HIT-VL 16/0.7 10 pc 336646
Hilti HIT Profi accessories Air nozzle
Applications Technical data
| Clearing dust and debris from drilled holes under various condi- Dispenser, setting tool, accessory, Cleaning accessories
tions including where adhesive anchors are set at great depth tester type
Advantages
B Fast, effective cleaning of drilled holes
Ordering designation Drill hole diameter z:l:l:il::ck Item number
Air nozzle HIT-DL 20 20 mm 1pc 3711719"
Air nozzle HIT-DL 25 25 mm 1pc 371720"
Air nozzle HIT-DL 32 32 mm 1pc 371721
" This is a non-stock item. For detailed lead time information please contact your Hilti representative.
Accessories for using brushes to clean holes Hilti HIT
Applications Technical data
B Forthe proper brushing of drilled holes of Varying diameters and Dispenser, setting tool, accessory, Cleaning accessories
embedment depths tester type
Ordering designation Drill hole diameter zz:fﬁ':;ck Item number
Brush extension HIT-RBH 1pc 229138"
Brush extension HIT-RBV 1pc 238727"
Holder TE-Y 1pc 263439"
Brush extension HIT-RBS 10/0.7 1pc 336645"
Round brush 13 HG 12 mm 1pc 229133
Round brush 18 HG 18 mm 1pc 229134
Round brush 18 GA 18 mm 1pc 229136"
Round steel brush HIT-RB 20 20 mm 1 pc 336552"
Round steel brush HIT-RB 25 25 mm 1pc 336553"
Round brush 28 HG 28 mm 1pc 229135
Round brush 28 GA 28 mm 1pc 229137
Round steel brush HIT-RB 30 30 mm 1pc 380920"
Round brush 38 GA 38 mm 1pc 229673"
Round steel brush HIT-RB 40 40 mm 1pc 382260"
Round steel brush HIT-RB 47 47 mm 1pc 382264"
Round brush 50 GA 50 mm 1pc 229674"
" This is a non-stock item. For detailed lead time information please contact your Hilti representative.
Page 15 May 2016

243 Hilti online: www.hilti.com.hk



Anchor Systems =111

Setting tool TE-C-E

Applications Technical data
B Setting tool for installing HAS-E Dispenser, setting tool, accessory, Setting tools

tester type
Ordering designation Connection end z::ii'::(:k Item number
TE-C-E M8 TE-C 1pc 369223
TE-C-E M10 TE-C 1pc 369224
TE-C-E M12 TE-C 1pc 369225
TE-C-E M16 TE-C 1pc 369226
Setting tool TE-Y-E
Applications Technical data
B Setting tool for installing HAS-E Dispenser, setting tool, accessory, Setting tools

tester type
Ordering designation Connection end :::fﬁ':;c'( Item number
TE-Y-E M16 TE-Y 1pc 369227"
TE-Y-E M20 TE-Y 1 pc 369228"
TE-Y-E M24 TE-Y 1pc 369229"
" This is a non-stock item. For detailed lead time information please contact your Hilti representative.
Setting tool HIS-S
Applications Technical data
B Setting tool for installing HIS Dispenser, setting tool, accessory, | Setting tools

tester type
Orderi . . Sales pack

rdering designation quantity Item number
HIS-S M8 1pc 45964"
HIS-S M10 1pc 45965
HIS-S M12 1pc 45966
HIS-S M16 1pc 45967
HIS-S M20 1pc 45968"
" This is a non-stock item. For detailed lead time information please contact your Hilti representative.
Page 16 May 2016

245 Hilti online: www.hilti.com.hk



6¥¢ €102 /80
O, 0CL+ O, Cl+ D, 0CL+ 01D, 0¥~ 111 ®Bues sinjesadws |
D, 08+ O, 0G+ O, 08+ 0} D, O~ || @buel sinjesadws |
Q. 0P+ Q. ¥C+ Do 0¥+ 01 D, OF- | ebues aunjesadws |

ainjesadway ainjesadway
|euvjew aseq |eldjew aseq
wJd) Joys wnwixepy | wud) Buoj wnwixep

ainjesadwa}

abuel ainjesadwa
|eliajew aseg ¥ L

*@oue)sisal puoq ubisep 8y} Jo uolonpal e 0} pes| Aew
ainjeladway [eusjew aseq pajeAsls uy ‘mojaq UaAlb sabues ainjesadwsy ayy ui paldde aq Aew aaisaype NAH

abuel ainjesadwa) aoiAIag

‘suolje|nBal jeuoljeu wouy
juswauinbal Jojoey Ajajes ay) o) Buipioode Aiea Speo| papuswiwiodas ay| ‘¢ = A Jojoe) Ajojes [eqolb ||essno Yipn (q
"6EIN-LZIN 104 8°8 BpeID ‘YZIN-8IN 3-SVH 40} 8°G 8pels :poJ Joyoue J-GvH J0) weliboid Aisaljep prepuess ayl (e
6'LS LTy 4 g'Le z'oe L'0b €' 9y [Nl (#V) ¥3-SVH %%\ Jeays
L'vL 9'29 L'9¥ €€ 0z 8Ll e 92 | [Nl (pW) ¥3-SYH  °¥NalisusL
€'0L 0'8S 1'9¢ 18l 0zh €9 €'y 8z | N (e3-SVH % Jeays
L'vL 9'29 1'9v €'.¢ 0z 2'2L 18 2's | INv @3 SVYH  °**Najsual
0EN LZN PN 0ZN 9LIN LN OLIN s8I az|s Joyouy
€2-90-110Z @nssl ‘G620/50-V L3 Buipiodoe ejeq
SVH Joydue ‘;Www/N Gz = 29"y — 6z/0Z 9 9)949U0d ‘(g SPEO| PapuaWIWoday

G'GS 8'Gy 8'LL 9'0S 1'2e €'/l 44" L', [Nl (#V) ¥3-SVH PHA JBYS
226 6'GL €'c6 9'vL or 9'8e 8'6l vzL | [Nl (pY) ¥3-SYH  PENslisuaL
8'89L | Z'6El %9 8'vy | 8'8z z'sL 70l 8'9 | [N («3-SVH PEA Jeays
v'erlL | 2'szl | €'¢6 9L or £'6e €Ll e | Il ©3-SYH PN ojsuaL
0EN LZN | veN 0ZI 9L ZLIN OLIN s8I azis Joyouy
£2-90-1102Z @nssl ‘G620/50-V L3 Buipiodoe ejeq
SVH Joydue ‘;Www/N Gz = 29"y — Gz/0Z D 9)219U09 :ddue)sisal ubisaqg

8'GGL | ¢8ZL | 09€L | S¥6 G09 oce (1k44 2'eb | Nl (pV) ¥3-SVH A Jeays
44 8'/81 ovl 6L 09 G'es 1'9¢ 0%¢z | [Nl (pV)¥3-SYH N ojisusl
04k | 0'vZL | 008 09 0'9¢ 06t 0'cL g8 | I\ (e 3-SVH A Jeays
vze | 848L | Ol | 6LLL 09 08¢ 092 0ZL | INdl ©3"SVYH BN ajsual
0EN LZN PN 0ZN 9LIN ZLN OLIN 8N az|s Joyouy
€2-90-110Z anssl ‘G620/50-V L3 Buipiodoe ejeq
SVH Joydue ‘;wiwyN Gz = 29"y — Gz/0Z D 9)912U09 :92ue)SISal dl)slidjoeieyn

€891 g'geL 6'9v1L 1204 »'G9 Sve :Xor 8%l N1l (pv) ¥3-SVH WnHA tesys
208z | L'oez | v'vpe | €0LL | L'60L | 84S 9'6e g%z | Nl (p¥) ¥3-SYH “"¥Nepsual
9‘tez | Lz8k ¥8 885 8'2¢ 4 L€t 68 | [\ @ISVH  “™puesys
1862 €'05¢ 891 9LL 96/ 6'6¢ k4 621 [N>1] (e3"SVH WIHN BlIsuS |
0EN LZIN VZIN 0ZIN 9N CLN OLN 8N az|s Joyouy
€2-90-110Z anssl ‘G620/50-V L3 Buipiodoe ejeq

SVH Joysue ‘,ww/N Gz = 29"y — 6z/0Z D 913J0U09 :3due)s|sal djewiyin uesj

(1oyoue SyH yum NAH)

wa)sAs Joyoue YAH

€102 /80 8¥¢c

2,07+ 0} D,G- 8bues ainjesadwa) uone|eysu| -
(D,01/D.1Z+ :2injesadwsa) [elsjew aseq wid} Joys/wia} Buoj “xew ‘Q,0p- 2injesadwa) |elsjew aseq “uiw)
| obuel syesadwa] -
JWW/N GZ = °1™} ‘Gz/0g O 8je10u0) -
S9|ge)} 8y} Ul payioads se ‘|elsjew Joyoue suQ -
a|ge} 8y} ul payoads se ‘yydap juswpaquwa |eoldA} Bup -
5|qe)} 8y} Ul payIoads se ‘ssaudoly) [eusiew aseg -
ainjey[8g)s -
aouanul Buioeds pue aoueysip abpa oN -
(uononuisur Bumes 99g) Bumes o0y -

poylew ubisap p 0} sajjdde uoljoas siyj ui ejep ||y

|dwig e8s s|iejep Jo4

(1oyoue ajbuis e 10j) eyep Buipeoj oiseq

€2-90-1L0Z @nss! ‘'G520/50-V13 Buipioooe uonss siyy ul uaalb ejep Iy (e

9¢-01-200¢ / ¢0¥991 4M
Z1-80-€00¢ / 2¢-1680/€€€€ 8N Blramyosunelg ‘gNgl
9¢-€0-¥002 / 1-1680/€€€€-EGN Bramyosuneig ‘gngl
€¢-90-110¢ / §520/90-V.13 ulpeg 1910

aJyuojbulIEM (a1y) podal Juswssassy
lJauun]-A 17 Hodal jsa} all4
yodal is9) all4

(. [eA0Jdde |eDIUYo8) ueadoing

anssj Jo ajep / 'ON KiojeioqeT / fjuoyiny uonduosag
S9)eo1}13499 | sjeaosddy

a1emjos

ubisap Awojuod [enouddy eouesisal 90UE)SIsal 20UBjsISal Buioeds pue

_o;.oc/.\ ’ 9 [edluyos | uoIso0d ey _.oo ol “_ souejsip 8J2.10U0)
SIJ0Hd ueadoing ybiH j i , a6ps [lews

ﬁm_ W U oy | 9LE | fm
et

pol YOH 3-SVYH
d 3-SVH o i s e o st s

3-SVH

JUB}SISaJ UOIS0LI02 Ybly i
suoneodde Jajewelp abie|
9)910U00 pajeinjes

Jayem pue Aip 1oy a|geyns
Ayoeded Buipeo| ybiy

9)210U02 Pa¥OBIO-UOU IO} B|qe}INS

ansdes |10} NAH
i

sjyauag wdysAs Jey o

(poa soysue gYH Yim NAH) wajshs anisaype vAH

(Joyoue SYH yum NAH)

wia)sAs Joyoue YAH

May 2016

Page 17



3°14

€102 /80

“80|AI8S AIOSIAPE [BOIUYDD | IHIH 8U} JorIU0D dses|d s8joy pa)|p PUOWEIP Ul SIOYOUE 10j Bjep [ed]uyos) o4

"Jonpoud 8y} jo abexoed ay) yym usAIB 8Sn 10} UOIIONJISUI 89S UOHE|[EISUl UO UO[eWIOoUl pajie}ap Jo4

Bul|jup Jawwey ‘9}210u0d pajelnjes-i1ajem pue Lig

uoponysui Buyes

s|00) bunas ‘unb Jie passaidwod Jo dwnd Jno moiq $]00} Jayl0
0.3L-0¥3L 9L 31-23lL Jawwey Alejoy
0EIN LZIN Ve 0ZIN 9LIN CLIN OLIN SIN 9zIs Joyduy
juawdinba uonejjeysul
Bumes
96 0S8 144 A 0€ 14 (14 9l [wiw] "P JajoWelp Jaysep
14 34 9€ 0€ 4 6l Ll €l [wiw] "° S}ej} SSOIOB YIPIA
08¢ 0ve 062 0 061 091 ogl oLl [wu] ' yibuaj Joyouy
0.¢ ove ole 0L 143 0oLl 06 08 [ww] yidep juswpaquia Joyouy
= = = = = = = = HOH-SVH
8 X N S =) S 2 3 Y¥3-SVH “Y-SVH

x x x x x x x .
N N N 3 N 2 g 3 3-SvH
o o S} o o S) o poJ Joyouy
0EN LZIN vZIN 0ZIN 9LIN ZLN OLIN SIN 9zis Joyoduy

3 |
] 1
< I
i

o2 suolsuawip Joyosuy

(Joyoue SVH yIm NAH)

wajsAs Joyoue YAH

€102 / 80 0582
G9G¥'L 162G L 188001 NI
|93)s Juelsisal uoIsouI00 YblY ‘Z-905€ OSI N3 ‘02 ssep yibuang
29EV'L {6EPY L (LLGY L 18LSY L POV L (LOYY L 188001 NI Z60v OSI N3
'y opeub |93)s sso|ulels ‘2-906€ OSI N3 ‘0L ssejo yibuang N
#8901 OSI N3 ‘wr G 2 paziueaieb paddip joy
ZvOr OSI N3 ‘wrl G 2 paziuenleb [9s)s
2-868 0S| ‘g ssej yjbuang
G9GY'L ‘62SY | :8800) NI ‘[99)s Jueysisal uoison0d ybiH
29ev'L 680/ OSI
BEYY L (LIS L 18LGY L (WOPY L (LOYY L 188001 NI ‘|98)S Ssojulels Jaysem
#8901} OSI N3 ‘paziueAjeb paddip Joy Zy0y OSI N3 ‘paziuejeb |99)s
o, Sy ¢ = 20dyy ¢ =y
alONp %8 < Sy ZWW/N 00 Y 2WW/N 002 = Y ‘¥2N HOH(3)-SYH

33ONP %8 < Y ZWW/N 0¥9 = £° %Y 2WW/N 008 = “d :0ZW S Wbuass
G9SY'L {62SY ) 188001 NI ‘1-90G€ OSI N ‘|99)S Juejsisal uoisoLiod ybiH

pos pepeaiy |

TIEY'L 6EVYL LLSYL |8LGYL SWOVYL (LOYYL 188001 NI
‘1-90G€ OSI N3 ‘OEIN O} LZIN 10} OG SSED PUE HZ|N 5 10} 0/ SSefo yibuais
all1oNp %8 < 9V ‘pV 9pesd 99)s ssojulels

(3)-SVH
pou papealy]

#8901 OSI N3 ‘wrl G 2 pazjueaieb paddip joy (4)
Z¥0¥ OSI N3 ‘wrl G 2 paziueAjeb [9o)s
aIloNp %8 < %Y ‘L-868 0S| N3 ‘8°8 ssejo yibuans

0EN+22ZIN (3)-SYH
0EN-8IN 4(3)-SVH
poJ papeauy |

#8901 OSI N3 ‘wrl G 2 paziueaeb paddip joy ()
Zv0v OSI N3 ‘wrl G 2 paziueaeb |ea)s
2111oNp %8 < °V ‘1-868 OSI N3 ‘8°G Ssep yibuans

0EW+2ZIN (3)-SVH
¥ZW-8N (2)-SYH
pou papealy |

|eraje

yed

Ayjenb jeuajey

M
90LL | vizL 608 vy v 8'c6 (] 022 [cwiw] SVH oouejsisal
JO JusWop
Sy UOI08S
615 12¥ 743 et il 29 €28 8'ze [pww] SVYH -$S010
passals
- - 00% 009 009 009 009 009 |[;wuwyN]l  HOH(3)- SvH
0L 0l 0S¥ 0S¥ 0S¥ 0S¥ 0S¥ oSy | [bww/N] d(3)-SVH ¥y yibusns
0+9 0%9 0%9 0%9 0%9 0v9 0v9 079 | [;wuwy/N] 4(3)-svH PIBIA
0%9 0%9 00% 00¥ 00% 00% 00% 007 | [;wuwy/N] (3)-svH
- - 002 008 008 008 008 008 |[:wuwyNl  HOH(3)- SvH
- oy yibuasys
005 005 00/ 00/ 00/ 00/ 00/ 00/ | [bWwuw/N] d(3)-SvH O
008 008 008 008 008 008 008 008 | [;wuyN] 4E@)SVH  |euwop
008 008 005 005 005 005 005 00§ | [;wuwyN] (3)-svH
0EN LZN | YN 0ZIN 9L ZLN OLIN 8N azis Joyouy

£2-90-LL0Z anss! ‘2620/9520/5520/50-V 13 Buipioode ejeq

SVH jo saisadoud |eajueyospy

s|eusje|

"aw} Jo spopiad Jueoyiubis 1oA0 Jue)suod A|ybnos ale sainjesadwa) [eLyew aseq payersle wie)-buo
ainjesadwa) [edjew aseq wud) Buol xe

‘Buijoho jeulnip

Jo )nsal e se ‘B8 ‘s|eAsalul Jolq JOA0 INOD0 Jey) 8soy) aie sainjesadwa) [elsjew aseq PajeAs|e Wis}-Hoys
ainjesadwa) [elId)ew aseq Wia) Joys Xep

(Joyoue SYH yim NAH)
waj}sAs Joyoue YAH

May 2016

Page 18



€9¢ €102 /80 €102 /80 414

*aouejsip abpa Jo/pue Buoeds
wnwiuiw Yym sIoyoue oy uone|ejsul Buunp ainjiey Bunids ploae o} jJuswow anbio} papuaIWodal wnwixew ay} st syl (q
(“y 2 y) sseuxdly) elsjew aseq iy (e
‘paonpai aq 0} aAeY speo ubisap sy (souejsip abpa [eonuo) Bujoeds (e UeY) Jojlews (soue)sip abpa) Bujoeds 1o

May 2016

- - 8'90L | 9'6LL | 6'9L 9'0% z'8¢C 221 | [N HOH-(3-) SVYH
2z6 | 6'6L | zozh | L'v8 L'y | 9'8c | 86l vzl | [N 4-(3-) SYH smuy
0'18Z | €16z | 6'0LL | 9'%6LL | 6'9L 9'0% z'8¢C 221 | [N 4(3)- SYH
0182 | €€z | 8'90L | 8% | L8y | v’z | 9L [ L' | [Nl (3)- svH 008 0.2 00z | oSt 08 or 0z o TluNl @y o JUSWOW anbio |
[ LZN Ve 0CIN 9L CLN OLIN SIN 9ZIs Joysuy Pygy N0y aIn|le} BUOD B}J2I0U0D
£2-90-LL0Z @Nnss! ‘/620/9520/5520/50-V 13 Buipioooe ejeq 1o} Bouejsip 8bpa [BoLD
(43-SVH) 28'L (3-SVH) §'L = SN, s‘py 1 1 . . aJn|iej 8uod 8}810U0d
N @duejsisal |93)s ubiseq NPog s 10} Buioeds [eanuD
aouejsisal ajisus) ubisap osiseg 0.2 ove 0l 0/} Gzl oLl 06 08 |[ww] *%o

uiy

0ve 00€ 0.2 0zz 0/1 o) 0zl orL | lwuw]

111 @buel ainjesadwa | ainjiey buiids Joy aoueysip abpa |eon)

o ey deer deg de o » 0.2 ove 0Lz 0L 4} 0Ll 06 08 |[ww] %% Buioeds wnuwiuiw
Ny Ty - T B 6 zez>u PN Sumid . ovs | o8y | ozv | ove | osz | O0zz | 08 | 09 |[[ww] "y 4o} psziundo
(8104000 pa3OEIO-UOU Aju0) BOUBISISEI BuRyIds S1eI0U0D ovs | o8y | oOzv | ove | 0S¢ | 0zc | 0SL | Oel |ww]  ®™0  sseuyo eusjew eseq
N2y Ny NEY LNy Ny L 8L 0P N = PPEN 10UEB)SISal BUOD BJeJoU0D - 08¢ ore 00€ 022 0L 0/l 0zl obL [lww] "™y wnwiuiw Joj paziwndo

duy . day . dpy N o dPay || 8buel sinyesedwa | ainjiey Bumds 1oy soueSIp 8bpe [eonlD

0 T
:80UB}SIS8) BUOD 8)8J0U0D pue JNo-|ind pauIquIo) - 0vS 08y 0ve 0ve 08l 08l 0€L 00L [[ww] *% Buroeds wnwiujw

. spuy soUBISISal [0RIS - ovs | o8y | ozv | ove | osz | ozz | o8k [ o9k [[wuwl "y

N 0vS 08y 0zy 0ve 0S2 02z 08l 091 [[ww] %0 ssauyoiy [eusiew aseq

1O BN|BA JOMO| BY} SI doUR)SISaI B|1SUd)} ubisap ayl 095 08v € ove 01z 01z 0oL vl MWl U wnwiu o pezuwdo

abues ainyesadwa | ainjie} Bunyds oy eoue)sip abpa [eanu)

Page 19

Buipeoj uoisua | a5 7 dsiog ain|iey Burds
1oy Buroeds |eanu)
ww v aouB}SIp
seL | oeL | ozl 06 9 ss Gy ov oBpo WNWIUIN
"Joyouy S|40¥d 2Jemyos ubisap Joyoue ay) asn ases|d suonesldde Buiusise) xa|dwos aiow o4 gel 0clL 0zl 06 G9 [el¢] 1% o [wuw] ulg Buroeds wnwiuipy
[wuw] ) ENTEVVET]
*JOUDUE SUO IO} PI[EA B1E SBN|BA 8| €e 0e 9c 44 8k vk (4 6 P souesesp Jo sejewelq
£ 6 oz | ovz | oz | oz | szL | ok | o6 08 |fww] ey 99ROy P pue
(Ayo1us299 ou) m_ococm _m:_ww_zcc_ uo Buioe ale speoj Jualayip Mz . aBeIOyoUE SAIOBYT
:uoneoijidwis Buimoj|oj a8y} uo paseq si poylaw ubisep sy
se | oe | s | ve | e | v |z | ok [l % e
(4oyoue g140¥Ud e
0EN LZIN vZIN 0ZIN 9LIN CLIN OLIN SIN 9zIs Joyouy

2Jem}jos ubisap Joyoue sy} SN 0} PEPUBWIIOIBI SI )i ‘SIY} PIOAR 0] "D X8uuy ‘100 OV.13

£€2-90- 1102 anss! ‘/620/9520/5520/50-V.13 Buipiodde ejeq

Buipioooe sanjea 10exa 8y} UBY) Jomo| aq [|IMm A8y] :8piS SABS 8y} UO Uy} aie Speo|
ubisep pajenojes ay) "Buoeds pue souelsip abpa yoea Joj pasapisuod ag usay} jsnuw
slojoey Bupusnjul ay] eouelsip abpa suO UBY} 810W IO SIOYOUB OM] Uey} alow Y)m
sdnolb Joyoue Joy paydde aq osje Aew poyjew ay]) 'sioyoue om} jo dnoib e Joj pilep =

s|iejop Bunjeg

yg 0o L -01 0, G-
Buioeds jo aousanyu| = Ul 0, 6010, 0
aoue)sip abpa Jo eousnyu| = U og 2,61 010, 01
ybuans 8}910U00 JO BoUBNU| = U0z 3.0 01, 02
. '€¢-90-110¢ 8nss! '£620/9520/5520/50-V13 ul usAb ejep Buipioooe %1% "papeo] AJjn} 99 UED JoydUe 210§3q awil} Bupng [eiajew aseq ayj Jo ainjesadwa)
soueysisal uBisa@ " Xauuy L00 OV1T Buipioode poyrew ubisep ay} jo uoision paydwis 0Z-10-900 / L0-€0-010Z NSS! */620/9520/5520/50-V 13 Bulpi099e eeq

poyjaw ubisap padwig suol}ipuo? |esduab 1oy awiy Buring

(1oyoue SYH yim NAH) (1oyoue SYH yum NAH)

wa)sAs Joyoue YAH wa)sAs Joyoue YAH




ei°r4 €102 /80

90UE)SISal BU0D 8)810U09 UbIsaQ PN
90UEJSISa) 9UOD 9}9JOU0D pue Jno-|nd pauiqwoo ubisag PN (e

ww 092y oyg =y

ww 09 >y Joy | =Y
P - Y pue 9PYN - ) Jo onjeA 19mo| = PP aoue)sisal Jnokid 93a10u0d ubisaq
_ & " &' fad 6

- - Vy9 | 8L | Loy | vy | 691 | 9oL | [N HOH~(3-) SYH
€'sS | s'sv L'z, | s'os | vee L' 611 Gz | [Nl Y-(3-) sSvH smip
9'89) | '8l | 9Z0L | 8L | Lov | v've | 6'9L | 901 | N 4(3)- svH
9'89) | 8'8€L | L'v9 | 6wy | 882 | Z'GL | 90l 99 | I\ (3)- svH
OSEN | ZZW | ¥2N | 0ZN | 9LIN | ZLN | OIN 8N az1s Joyauy
£2-90-110Z NSS! ‘1620/9520/5520/50-V.13 Buipiodoe ejeq

(43-SVH) 96"k (3-SVH) SZ'k = S, S'P¥p aoue)sisal |99)s ubisaqg

aouejsisal Jeays ubisap oiseg

vyp.uy-9yp.8y. qnxe> = °Pdp :9oue)sisal abpa 9ja10U0) -
PN pue 9PHN J0 BnjeA Jemo| - Y = PN :aoue)sisal Jnokid 8jelouo) -
S'PUA :90ue)sisal 99)3 -

1O 9N|eA J9MO| 3y} SI doue)sisal Jeays ubisap ay|

Buipeo] Jeays

‘paijdde aq Aew
| = ®} J0j0B} B UBY)} ‘WWw Q) = Buioeds e pue ww Q) S Jo}oWEIP B YIm Jo (1ajawelp Aue) ww 0G| z Buioeds
B U)IM Juswadioyulal s a1ay) abeloyoue Jo ease dy} Ul §| Juswadiouldl dsuap Joj Aluo seldde Jojoey syl (e

b 560 60 580 @80 @S0 @10 | S Wwooz/y + 5'0 = N
00} 2 06 08 0L 09 0S5 or [ww] oy
JudWIADIOJUIBI JO dOUNHU|

L= Ny

99UB)SISB] BUOD 8}842U09 UO yjdap JusWIPAGID JO dUBN|HU|

‘Buioeds Joyoue AJans 10} paIapisuod aq jsnw Jojoey Bupusnyul siy] s|ielep bumes
By} yum a|qe} ay) ul usAlb “Ws Bujoeds Joyoue winwiulw By} Uey) Jajlews aq jou [jeys Buoeds Joyoue ay) (e

(*Psis+1)6°0 = *7
(NPs/s+1)6'0 = Ng
an:um\m

3 G6'0 | 06'0 | G8°0 | 08°0 | S£'0 | 0L'0 | S9'0 | 09'0 | SS'O

I 60 | 80 | 0 | 90 | SO | ¥O €0 z0 1o

Ns/s
(e Buroeds Joysue jo asusnju|

(Joysue SYH yim NAH)

wa)sAs Joyoue YAH

£102/80 44

“aoue)sip abpa
|eono 8y} uey) Jajjews aoue)sip abps A1oAs 10} paiapIsuod g Jsnw siojoe) Buouanjul 8say] ‘s|ielep Buies
Ay} yum s|qe} ay} ul uaAlb o aouelsip abpa wnwiuiw 8y} UBY} JB|jeWwsS aq Jou |[eys aduejsip abpa ay) syl (e
(*Pop +1)g'0 = ¥y
(op+1)g'0 = Ny

3 G6'0 | 06'0 | G8°0 | 08'0 | S£'0 | 020 | S9'0 | 09'0 | SS'O

®R0pg 0+ L0 = FY
VPOl + 20 = Y
nmcao\u

3 160 | ¥6°0 | L6°0 | 880 | G80 | 280 | 6.0 | 920 | €20

NP9 o

(e @oUe)SIp 96pa Jo dduBN|U|
20IAI8s AIOSIApE [ED1UYDS) N}|IH 10BIU0D 8seald ‘0z pue G| = 29} jo ejep ubisep Jo4 (q

yibus| apis W 0G| Yym $agnd uo painsesw ‘yibusiys aAIssaIdwod 9)810u00 = 29y (e

G5l 7 8t'l L'l ve'L 2z [ L © WWNGZP®Y) = 8

(90Z AN3)
uoneubisap yjbuails ajaiouo)

09/0S 2 7 §S/S¥ D | 0S/0v O | S¥/SED | LE/OED | 0€/ST D | S2/0C D

22UR)SISAI BUOD 9}2I9UO0D UO YIBUBI)S 8}910U0D JO ddUBN|YU|

| b= 9y
95UER)SISa U0 8}8J9U0D pue Jno-|Ind pauIquiod uo Yidap Juswpaqus Jo ssuanju|

20IM8G AIOSIAPY [BOIUYDS | 1NIH J0BJU0D ases|d ‘0z pue G| = °9™*° Joy ejep ubisep 104 (g
Yibua| apis Wi 0G| YIM $3GNO UO painsesw ‘Yjbualis aAIsSaIdWod 9}aIouod = 2%y (e
601 | 801 201 9t YOt 20’} 3 (@ roleWWNGZPT™FY) = 49

(90z AN3)
uoneubisap yjbualys aja1ouo)

09/0S 2 7 §S/SY O | 0S/0¥ O | SY/SED | LE/OED | 0€/SC D | S2/0C D

92Ue)SISal 3UOI 3)349U0D pue Jno-|ind pauiquod uo Yjbualls 9}919U09 JO ddUdN|JU|
s10)oej Buiouanjyug
9}9J0U0D PaYOEBIO-UOU IO} PAIBPISUOD g AJuo }snw aouelsisal Bunyds (e

¥'6vl | z'gel | G'zol 9'vL A4 8'8 1'82 L've N1l PPN
0EN LZIN VZIN 0ZIN 9N CLN OLIN SIN az|s Joyouy

€2-90-1102 @nssl ‘/620/9520/5620/50-V .13 Buipiodoe ejeq
S'L=oW) N'oly . ds'ey . dszy . ds'iy . Nuy . gp. oﬁmoz = ds'pu (e @dUE)SISal Bunyds ubisag
NIy LNy N LN Nl ) 2P N = 2PUN 90UB)SISAI BUOD 8)210U0D UBise(

0'05 0'0§ 0'0¥ 192 191 L'0L 08 0'9 | [Ndl 11l ebueseimeiedwa)] TP N

€€eLl £'€6 1'9L 0'0S £'ee 1'9z 291 €€l [Nd] 11 eBuelt aameladuws | a,umoz

L'99L | e'eel | g€ | L9, | oov | eee | ecz | L9 | I\l |ebuesaineisdws)l TP N

oz | oz | 00z | oL | szL | O | 06 08 [w] 8%y

yjdap juawpaqua jeaidA ]

0EN LZIN VZIN 0ZIN 9N 44 OLIN SIN az|s Joyouy
£2-90-1102 @nss! ‘/620/9520/5620/50-V.L3 Buipiodoe ejeq

§h=dg duy . 'y . dPd N = TPHN 9oUR)SISBI BUOD 9)819U0D pue Jno-jind paulquod ubisaq

(1oyoue SyH ym NAH)

wia)sAs Joyoue YAH

May 2016

Page 20



1G¢

€102 /80

- uBlsa( Joyouy, uonoas 9as Bulpeo| Jesys pue UoISua} paulquiod Jo-

Buipeo| Jeays pue UOISUd} pauIquio)

Uiy goueysip abpe winwiuiw
By} pue s Buroeds Joyoue WNWIUIW S} UBY) JB|[BWS 8 JoU |[eYys aoue)jsip abpa ayy pue Buioeds Joyoue ay] (e

€102 /80 96¢
00'L | €6'0 | 98'0 | 620 | L2'0 | €9°0 | ¥S'0 | S¥'0 | ¥E'0 | 220 L5 {0 gt =4
G1Z| Ge'L | 2 | SO°L | 60 | S0 | 90 | S¥'0 | €0 | SLO oy
SSauY{d1Y} |elidjew aseq Jo asuanjju|

o |
4 LIV | 08TV | GV | €T | v | L0 b t Y
08~ 06 | 58 .08 oSL 0L 59 009 | oSS - o0 g 91buy

abpa aauy ayj 0} sejnoipuadiad uoioalip ay) pue paijdde peoj usamjaq ajbue Jo asuanju|

90IAI8S AJOSIApE [BO1UYD3] 1}IH 10BJU0D asea|d ‘0z pue G| = °9™°} jo ejep ubisap 104 (q
ybua| apis ww 0G| YIm sagno uo painseaw ‘Yibualls aAIssaidwod 8}a1ouod = 29y (e

G8'0L [55°0) [92°0) [26'6 [29'6 [8€'6 [60'6 |68 [05'8 128 |26°L [297L [€€'L [v0'L [#29 | 062l | 0S'S
1€'0L [20'0) [¥2'6 [S¥'6 [£1'6 |88'8 [69°8 | 1€ [20'8 [€2°L |S¥'L [9L7L [28'9 [6S'9 [0g9 | €02l | szZ's
8.'6 [05'6 (226 [¥6'8 [99'8 [6€8 | 118 [€8°2 [GG°L |22°L [66'9 [L2'9 |ev'9 [SL'9 [z8'G | 8L°LL | 00°e
92'6 |66'8 [22'8 [S¥'8 [Z1'8 [06°L |€9°L [9€72 [80°L | 180 [#6'9 [/2'9 |66'G [22G |sv'S | s€0L | Si¥
G/'8 |6v'8 [2e's [S6°L [69°L [2¥'L [91°L |68'9 [€9'9 [9€9 |0L'0 [€8G [/G'G |og's [#0'G | SS'6 0Sv
G2'8 [66°L [€4°L [L¥'L [22'L [96°9 |09 |¥¥'9 [8L'9 [€6°G |£9°G [1¥'G [GL'S [06'% [#9F | 9.8 42
G/, |0S°L [S2', [00°2 [G2'9 [0S'9 [G2'9 [00'9 [S2°G [0G°G |g2's [00°G [SL'v [0Sy [Se'v | 008 00y
9z°L [20°L [82°9 [¥S'9 [62°9 [S09 |18'G [2G'G [€€'G |80°G [#8'F [09'% [9€'¥ [2L'v [28°€ | 92'L Gl'e
GG'9 [G5'9 [1€'9 [80'9 [98'G [19'G [8€'G |¥L'S [16'F |89 |v¥'y [L2'y [86'C [v2'€ [1G€ | SS9 [X3
98'G [98'G [98'G [€9°G [I1¥'G [8L'G |96'F [€LF [1LGY |82'F [90F [€8'¢ [19°¢ [8€e [GL'e | 98'G 143
0Z's [02's [02'G [0Z'S [86'F [9.7 |SS'¥ [€€F [ L1y |06°E [89¢ [ov'e |ge'e [€0e [182 | 0Z'S 00
9S'v 967 [95° |95 Y [9G'F [SEV |SL'v [v6'E [€L°€ |2S'E [2€e [L1'E [06'C [69C |6v'2 | 95t K4
G6'€ |S6'C [S6'c [G6°C [S6'E [S6'E [9L°¢ |9G°E [9ge |91 |96'C [LLT [15'C |L€C [L1T| S6E 05z
8€'¢ [8¢c'c [8e'c [8€'¢ [8e'E [8€'E [8€°E |6L°E [00°E [18C |€9°C [#¥'C [G2'Z |90 [88'L | se'e (144
€8'C |€8'C [€8'C |€8'C [€8'C [€8°'C |€8'C [€8'C |G9°C | ¥z |0gT [2h'e [v6'L [22'L |6G°L | €8T 002
2e'e |2e'e [ee'e |ee'e |2e'e [eee |ee'e |2e'T [2e'z |SL'e [86°)L [28°L |S9'L [6¥L |2eL | zeT SL)
¥8°L [¥8'L [#8°L [¥8°L [¥8'} [#8°L [¥8'L [¥#8'L [¥8°L |¥8°L [89'L [€G°) |8€'L [22'L [0k | #8°) [
ov'L [o¥'L [o¥'L [ov'L [oF'L [or'L [oF'L [OoF'L [ov'L |OF'L [OoF'L [92°) [2L°L [86°0 [#8°0 | OF'L sl
00°} [00°L [00°+ [00°L [00°L [00°F [0O°L [00°L [00°L |00°L [00°L [00°) [88°0 [S2°0 [€9'0 | 00°) 00}
G9'0 [G9°0 [S9°0 [S9°0 [G9°0 [S9°0 [G9°0 [S9°0 [S9°0 [S9°0 [99°0 [S9°0 [S9°0 |[#S0 [e¥0 | S90 SL0
GE'0 [G€°0 [S€°0 [S€°0 [GE'0 [SE°0 [SE0 |GE'0 [SE0 [SE0 |gE'0 [S€0 [se0 [geo [0 | s€D 050
S2'Lh | 0501 | S2%6 | 006 [ S2'8 | 0S°L | S2°9 | 009 | S2°6 | 05'Y | SL°€ | 00°€ | S22 | 0S°) [ S20 | soyoue | |,
#y/s sioyoue om} jo dnoig albuig ur
G§0-([0-€l/s+1) 4 (Pup)=*
v} :90ue)SISal abpa 83210U0D U0y , ddUE)SIP 96pa pue Buroeds Joysue Jo ddudnyu|

(1oyoue SyH ypm NAH)

wa)sAs Joyoue YAH

G5l 7 8t'L Lyl veL 2L [y L (o 20 GWW/NGZPI™P)) = 8

(90z AN3)

09/0S D | SS/SY D | 0S/0V O | SPISED | LE/0ED | OE/STD | S2T/OZ D uoneuBisep yBUSHS 21915U0D

yjbuauys 93219U09 Jo 3duaNjju|

sJ0}oej Buiouanjyug

‘palapisuod aq jsnw abpa ay} 0} 8sojo sioyoue ay} Ajuo sdnoib Joyoue Jo4 (e

2'6L 8'29 €8y 6'le L'l L'eL 8'8 2'9 IN] PN

0EN LZN vZN 0ZI 9L CLN OLIN SIN az|ls Joyauy
S'L=9W},

vj-Uy- 9.8 0P8 A = 9PHA o @OUR)SISBI 86pa 8)e10u00 ubiseq

(1oyoue SyH yum NAH)

wia)sAs Joyoue YAH

May 2016

Page 21



65¢ €102 /80

"awl} Jo spopiad Jueoyiubis JoAo Jue)suod A|ybnou ale sainjesadwsa) [eLB}ewWw aseq pajeAs|e wie)-buo]
ainjesadwa) |elsdjew aseq wua) Buo| xepy

‘Buijoho jeulnip

Jo }|nsal e se "6°8 ‘s|eAa)ul Jaliq JOAO INOD0 Jey) 8soy) ae sainjesadws) [els)ew aseq PajeAs|e Wis}-Hoys
ainjesadwa) elId)jeW seq Wid) Hoys Xep

0, 0CL+ Qo TL+ 0, 0Z1+ 01 D, 0%~ 11| buel sunjesodws |
0, 08+ 0, 0G+ D, 08+ 0} D, 0%~ 1| @buel aunjesadwsa |
Qo O+ Qo v+ Q. O+ 01 O, OV~ | ebues aunjesadwa |
alnjesadway ainjesadwa) simeledilie)
|euvjew aseq |eLIajew aseq abues ainjesadwa |
|elsojew aseg
w9} Joys wnwixely | wid) Buo| wnwixepy

*@oue}sisal puoq ubisap ay) Jo uolonpal e 0} pes| Aew
alnjeladwa) [elajew aseq pajeAs|d Uy "mojag usAlb sebuel ainjesadws) ay) ul paldde aq Aew aaisaype NAH BIH

abuels ainjesadwa} 9o1AI0g

‘suofjenBal [euoneu wouy
juawauinba. Jojoey Ajajes ey 0} Buipiodoe AleA speo| papuawwodal ay| ¢ = 4 Jojoe} Ajajes [eqo|b ||eseno yupn (e

€102 /80 8G¢

05€ 052 08l oS} ozl [ww] ssewjolyy [eusiew eseg
502 0.1 szl oLl 06 [ww] yidep Juswpaquiy
0ZN 9LIN ZLN OLIN SN azis Joyouy

*SpPeO| papuawWWo93l ‘@oue)sisal ubisap ‘@oue)sisal dljsudjoRIRYD
‘ejep Buipeo| oiseq ayj 1o} SSauUX DIy} [eld)ew aseq pue yjdap jJuswpagqug

0,01+ 0} D,G- 8buel ainjesadwsa) uone|eysu| -
(D,0%/D.¥2+ :0inyesadwsa) |elsjew aseq wis) Joys/wia) Buo| “Xew ‘0,0~ ainjesadwa) |elsyew aseq ujw)

| obuel ejesedwa] -

JWW/N GZ = *1} ‘Gz/0g O 8je10u0] -

$9|qe} 9y} ul payioads se ‘[eusjew Joyoue aUQ -

a|ge) 8y} Ul payoads se ‘Yydep Juswpaqus [eoldAy 3UQ -

9|qE)} 8y} Ul payIoads se ‘ssaudoly) [elsjew aseg -

(NY-SIH) 0-7V 10 (N-SIH) 8'8 ssejo yibuass malog -

ainjey [e8)s -

aouanul Buioeds pue aoueysip abpa oN -

(uononusur Bumpes 99g) Buyes o0y -

poylew uBisep paydwis @8s s|iejep Jo4 0} sajjdde uojoas siyj ui eep ||y

(1oyoue ajbuis e 10j) eyep Buipeoj oiseq

"€2-90-1 10T enss! ‘G620/50-V13 Buipioooe uonoas siy) ul uaAIb ejep Iy (e

92-01-200Z / 20¥991 4M aujuojburem (a4y) podau Juswissessy

1'/2 €8l 0’0l 1'9 o4 N3] (V) NY-SIH A Jeays
1'9% e L'6L eel €8 [Nl (#V) NY-SIH ~ ®Nojisus )
€8l 1'61 o'l L' (o7 [N N-SIH % Jeays
£'9¢ L' 002 el €8 [Nl N-SIH  °*Najsus|
0ZI 9LIN ZLN 0L 8N az|s Joyouy
€2-90- 1102 @nss! ‘6620/50-v.L3 Buipioooe ejeq
N-SIH Joyodue ‘;ww/N Gz = 29"} — Gz/0Z D 9}912U0d ‘(e SPEO| papuaWIWIOdIY
S'Ly €'Ge z'6l 8zl €8 [Ns] (V) NY-SIH WA Jeays
1'69 €'€9 9'Le 1'92 'L [NM] (PV) NY-SIH  ™Nejisus |
1'9¢ £'6¢ 0'9¢ '8l 70l [Nl N-SIH PHA JeBys
27 £€9 00y 1'92 291 [Nl N-SIH  P¥Nalisua|
0ZIN 9LIN ZLIN OLIN s8N azis Joyouy
£2-90~ 1102 @nss! ‘6620/50-v.L3 Buipioooe ejeq
N-SIH Joydue ‘;ww/N Gz = 29"y — 6z/0Z D 9)919U09 :duejsisal ubisaqg
0‘c8 0'es 0'oe 00z 0'clL [Ns] (V) NY-SIH A Jeays
o'ovl 0'66 0'69 o'y 0'se [Nl (PV) NY-SIH ~ ™Nejisusl
065 065 0'6¢ o€z 0t [Nl N-SIH A Jesys
0'604 0'G6 0'09 o'ov 06z [N N-SIH  ®Najisua ]
0ZIN 9LIN ZLN OLIN 8N azis Joyouy
€2-90-1L0Z @nss! ‘6620/50-v.L3 Buipiodoe ejeq

N-SIH Joysue ‘,ww/N GZ = 29"} — Gz/0Z D 9)}210U09D :92uR)SISaI dljsLdjorIRYD

(an99]s N-SIH Uim NAH)

wa}sAs Joyoue YAH

9¢-€0-¥00¢ / L-1680/€€EE-AN

Blemyosuneig ‘ginNgl

Hodal isa} all4

€2¢-90-110¢ / §520/50-V.13 uigeg 1d1d (e IBAOIddE [eoluyoe) ueadoing
anss| Jo ajep / ‘'ON Kiojeisoqe / fjuoyiny uonduosag
S9)eo1J11199 | sjeaouddy
SIeM}jos
ddy Buioeds pue
ubisep Aywiojuod enol 90UBJSISal [oue)sisal :
som o DNSL wewo Cau  DEB PR
SI40¥d 3 | pa [lews
@ W u W S
e

9)210U02 pajeinjes
J3)em pue AIp Joj S|gejns -
Ayoedes Buipeo| ybiy -
9)210U0D PYOBIO-UOU JO) S|GENNS -

ano9Is N(Y)-SIH

a|nsdeo |i

- e D SR AW T

sjyoueg

wa)sAs Jeyop

(N(4)-SIH U3Mm NAH) wajlsAs anisaype YAH

(ana3]s N-SIH UM NAH)

wia)sAs Joyoue YAH

May 2016

Page 22



L9e €102 /80 €102 /80 092

s|00) Buas ‘unb Jie passaidwoo Jo dwnd Jno mojq $]00} Jayl0

0/3L —0v3aL 9131 -z3aL Jawwey Aiejoy

0ZN 9LIN ZLN OLIN sIN azs Joyouy

juawdinba uonejjeysul

Bujes

s Q. .Mﬂ Q. & S0z o szl oLl 06 fww]  ydep justupequie Joyouy

c_HF 2. 6 o~ 2. 0 S0ZX0ZW | OZLX9LN | SZLXZLN | OLLXOLW 06%8W N()-SIH erea]s [eusajy]

' 0e .61 919, 0b 0ZI 9L ZUN oL 8N azis Joyduy
ulw 0z 0. 0V 01 0, 0Z

°"%) papeo] A|Inj aq uea |eLiajew aseq ayj Jo suolsuauwlip Joyosuy
Joyoue aloyaq awiy buung ainjesadwa |

£2-90-110Z @nssl ‘9620/5520/50-V L3 Buipiodoe ejeq

suonIpuod |esauab oy awny Buungy 88001 NI 298v'L ‘6EPY L {LLGH L ‘826t | ‘VOVY'L {LOVY' | 99]S SSOjuIElS

a|19NQ %8 < GV '1-90SE OSI NI 0L Ssep yibuas  :malos Buusisey paejal (q

"901AI8S AIOSIAPE [BOIUYDS | I)IH U} JOBJUOD 8seald s8joy paj|up PUOWEIp Ul SIOYdUe Joj Bjep [ed]uyos) Jo 240 OSI N3 Wiig < paziueajeb [oo)s

Jonpoud ay} jo abesjoed ay) yum UaAIB asn 1oy UOI}ONIISUI 89S UONE|[BISUI UO UOEWIojul pajie}ap 104 aI1oNQ %8 < SV ‘1-868 OSI N3 8'8 ssejo yibuans :maJos Bulusjsey pajejal (e
. . NY-SIH
88001 NI LLG¥'| PUB LOVY'| [99)S SSajulels  S9198S PopEsI) AlEUIBIUI
20 OSI NI Wrig < paziueneb [98)s N-SIH
€-//201 N3 ‘81L0°} 1991s-0 (¢ SOA9B|S papealy} Ajleutsyul
leuajey Hed
Ajjenb jeusjep
L¥S 112 601 €29 z'Le [cww] MaIdS A\ BouB)sISal
£7G1L G651 0¥8 0eY Sl [cww] N()-SIH 40 Juswon
sk 151 €8 85 9'9¢ [zuw] mong Y __M_MMM
9'/€2 1'952 1’691 0'80} §'Lg leww] NW)-SH  pessens
0S¥ 0S¥ 0S¥ 0S¥ 0SY LWW/NI  0L-pY MeI0g
0S¢ 0S¢ 05€ 0S¢ 0S¢ [eww/N] NY-SIH  *y yibuess
0v9 0v9 0v9 0v9 0v9 [zww/N] §'g MaIOS PIBIA
Gl€ Gl€ Gl€ oLy oLy [zWw/N] N-SIH
00/ 00. 00. 00/ 00. [LWww/N] 04y meog
iy yybuans
00/ 00/ 00L 00 00L [zww/N] NY-SIH olisusy
008 008 008 008 008 [eww/N] §'g MaIOg JeuILON
09 09% 091 06% 06 [zww/N] N-SIH
0ZIN 9L ZLN OLIN 8N azis Joyouy
. £€2-90- 1102 @nss! ‘9620/5520/50-V L3 Buipiodoe ejeq
Bul|jup Jawwey ‘9}919U09 pajeinjes-iajem pue Aiq

N(M)-SIH j0 sanuadoud [estueyos|y
uoponJsul buneg s|eldaje\

(an®3]s N-SIH Uim NAH)

(eno3]s N-SIH UM NAH)
wajsAs Joyoue YAH

wia)sAs Joyoue YAH

May 2016

Page 23



24

€9¢ €102 /80
£'ee 1'9¢ e'cl 10l 0'9 INYl 111 @bues einjesadwa)  TPE N
£'€9 0'0S £'ee [oord €'l INY] 11 ebues ainjesadwa)  TPE N
£'¢6 £'e9 0’0y L'9g L'9) [N 1 9Bues aunjesadwa)  PE N

[ww] =y
S0z 0LL szh (7% 06 e T
0ZN 9L ZIN [ s azis Joyauy

£2-90-1102 @nssl ‘9620/5520/50-V.L3 Buipiodoe ejeq

g =dj, duy . d'ay . d'Pu N = 9PEN aouB)SISBI BUOD 83210U0D puE Jno-|nd pauiquod ubisag
2’69 8'8S 9'le 612 6'cl [Nl NESIH sy
L'yl €08 L'vy 2'0¢ 8'9lL N3] N-SIH
0ZIN 9L ZLN OLIN 8N 8zis Joyouy

€2-90-1102 @nssl ‘9620/5520/50-V 13 Buipioade ejeq

L RoNL S'P¥N aoue)sisal |93)s ubisaqg

aoue)sisal a|Isud} ubisap oiseg

zdc . %;C . nm.nu . nmﬁu . ..‘_nc .8y uimoz = ..‘_m»_umz
:(81210U09 payoe.Id-uou Ajuo) aouelsisal Bunids ae10uo0) -
Noly . Ny . NE L NZY LNy L8y 9PE N = OPHN 1B0UB)SISE BUOD 9}I0U0D -
dyy . dgy . d'py ny = dPY
375 N = N
190UB)S|SaI SUOD 8}2I0U0D pUE Jno-||nd pauiquo) -

SPUN :90UE)SISAl [99]S -
JO @N|eA JaMo| 8y} SI @oue)sisal ajisua} ubisap ey

Buipeoj uoisua}

“Joyouy S1H0dd 8iemyos ubisap Joyoue ay} asn asea|d suoneoldde Buiusjsey xa|dwod siow 104

*JOYOUB 8UO JO} PI|eA 8. senjeA ay |

(Ayo1yue009 ou) sIo0youE [ENPIAIPUL UO BUIjOE 81e SPEO| JUSISYIP ON =
:uoneoydwis Buimo||o) 8y} Uo paseq si poyaw ubisep ay |

(Joyoue g1404d
aJemyos ubisap JOYyoue ay) asn 0} PapUBWIWOI3I SI )i ‘SIY} PIOAB O] "D XaBuuy ‘L00 OV.13
Buipioooe sanjea 10Bxe 8y} UeY) Jamo| g |IIm ABy] :OpIS ©ABS 8y} UO usy} ale speo|
ubisep pajenojes ay] -bBuioeds pue aoueisip abpa Yoes 10 paIspISuod ag Uay} jshw
slojoe} Burouanyul ay| ‘eouelsip 8bpa auo Uey} aJow JO SIOYOUE OM] UBY} 8I0W UM
sdnoub Joyoue Joy paldde aq osje Aew pouyjow ay]) ‘sioyoue om} jo dnoib e Joj pllep =

Buioeds jo aouanju| =
aouejsip abpa Jo sousnyu| =
yibuaJ)s 8}210U0D JO BOUBN|U| =
"€£2-90-110Z @nssl ‘9620/G520/50-V13 ul usnib eyep Buipioooe

(an®3]s N-SIH ynm NAH)
wajsAs Joyoue YAH

€102 /80 (414

aoue)sip abpa Jojpue Buioeds wnwiuiw
U}M SIOYOUE JO} uole|ieisul Buunp ainjiey Buiyiids pioae 0} jJuswow anbio} papuawWodas WnWiXew ayy sisiy] (g
("“y 2 y) sseuxdIY} [elisjew aseq iy (e
‘paonpal
aq 0} aAey speo| ubisap ay} (souejsip abpa [eonuo) Buoeds |eonuo ueyy Jajjlews (souelsip abpa) Buoeds o4

oSt 08 or 0z oL [wN] ey (q JudWOwW anbio|
Skl M0 oy soummap abpa ol
Ny 7 nog  ©INIIe} BUOD 8}2.10U0d
J0} Q:_omn_m |eanu)
502 0L) Gzl 0ll 06 [ww]  *%o
0.2 0€z 0L) 051 ozl [wu] "y
1 abuel w‘_:ﬂm._wnrcm._. aln|ej m:_z__am Joj} aouelsip mmvm [eanud
02z 0L 051 oLl 06 [ww]  *%o
0.2 0£Z 0L} oSt ozh [ww] "y
11 @buels ainyesadwa | ainjiey bunyds 1o} aoueysip abpa [eonD
052 0LL szl oLl - [ww] &% Buioeds wnwiuiw
(01574 ove (014 0ze - fww] "y 104 paziwndo
[0]54 0ve 052 o] 06 [ww] %™ ssauyoy [eusjew sseq
0S€e 052 08l o] ozl fww] "y 1o} paziwdo

| ebuel aunjesadwa] ainjie} Bunyids Joy aoueysip abpa |eonD

ain|iey bunyds

ds- ds-

T0T oS 104 Buroeds |eanu)

aoue)sip

gzl 08 09 S oy [ww] o 96ps WnWIUI

14 08 09 34 oy lww] s Bujoeds wnwiuiy

] ] ] ] ] Xew - uiw ‘yjbus|

05-02 or-9l 0€-zl Gz-0L 0z-8 [ww] U Juswebebus peaiy]

ainixiy 8y} Ut sjoy

[£4 8l vh (4 6 ] P 8dueles|d Jo Isjpuwelq

uidep sjoy ||Lp pue

S0Z 0L} gel oLl 06 [ww] "4 sBesoyoue sapoeyg

9'/T v'se §'0z g'ol x4} [wuw] P jusws|e jo Jejewelq

uq [1Lp

e 8z 44 8l i{ [wuwy] P 10 ssiewelp jeuIWON

0LZXVZIN 0LLX0ZIN STLX9LIN OLLXZLIN 06X0LIN  [aInsdeo jio} IR
S0ZX0ZIN OLLX9LIN STLXZLIN OLLXOLIN 06X8IN | N(d)-SIH 3193 )

£2-90-1102 @nss! ‘9620/5520/50-V L3 Buipiodoe ejeq

s|iejap Bumes

(an@3]s N-SIH ynm NAH)

wia)sAs Joyoue YAH

May 2016

Page 24



25

Ggoc €102 / 80
99InI8s AJOSIApE [e01UYD3) 1}IH JOBJUO0D ases|d ‘0z pue G| = 9Py jo ejep ubisep 104 (g
yibus| apis Ww 0G| YIM sagno uo painseaw ‘yjbualis aAISsaIdwoD 8)e1ouod = 2%y (e
G5l 8t'L Lyl ve'L ze'L Ly L (0 2 GWW/NGZPT™FY) - = 8
(90z AN3)
09/0S O | SS/S¥ O | 0S/0¥ O | S¥/SE D | LE/0ED | 0£/S2D | S2/0Z D uoneuBisap yBuans 8}219U0D
yjbualils 93a10u0d Jo aosuanju|
s10}oe} Bulouanjjug
‘palapisuod aqg }snw abpa sy} 0} 8so|o sioyoue ay} Ajuo sdnoub toyoue Jo4 (e
v'8y £ve 161 [l v'6 [N P A
0ZN 9LIN ZIN OLN SN az|s Joyduy
§'1 =N, vy uy- 9y 8). 0P8 A = 2PHA  9OUE)SISBI 9Bpa a)a10u00 ubisag
9OUE)SISa BUOD 9}8I0U02 Ubisaq ° PN
S0OUE)SIS8I BUOD 8)210U0D pue Jno-|ind pauiquiod ubisaq 4P¥N (e
ww 09 2Py oy z =y
wuw 09 >y 4oy | = Y

o'PHN -y pue 9PHN - Y Jo ©2NIeA Jamo| = do'p¥ A goue)sisal Jnokid 83a1ou0d ubiseq
Sy £'se z'6l 8'zl €8 [NY] NESIH gy

L'9¢ €'6¢ 0'92 v'8lL 7oL N3] N-SIH
0ZIN 9N CIN OLIN SIN az|s Joyouy

£2-90-110Z @nss! ‘9620/5520/50-V13 Buipiooe ejeq

V.13 0} Bulpioooe Aiea = SWj, m.um> aouej)sisal |99)s :m_wwn_

aouejsisal Jeays ubisap oiseg

vy.uy.9y.8p. %m@> = Pdp :20ue)sisal abpa 9)a10U0) -

2PN pue 9PHN JO BNjeA Jamo| - Y = PPN :goue)sisal Jnokid 8jesouo) -
SPHp :80ue)sIsal [99)3 -

10 BN|eA J9MO]| BY} SI 9oue)sIsal Jeays ubisap ay|

Buipeo] Jeays

‘paiidde aq Aew
| =} Jojoe} B usy} ‘ww Q) = Buioeds e pue ww Q| S JejoWeIP B YIM JO (Jejowelp Aue) ww 0G| = Buoeds
B UM juswadiojuldl sI aiay} abeloyoue Jo ease 8y} Ul J| Juswadiojulel asuap Joy Aluo saidde tojoey siyl (e

b © 560 60 L SWWo0Z/y +6'0 = N7

€102 /80

¥9¢

¢ (MPupy) = Ny

9oUB}SISAI BUOD 9)219U0D UO Yjdap JusWPaquId JO ddUANJU|

‘Buroeds Joyoue A1aAs o} paapisuod aq Jsnw Jojoe) Buiouanpul siy] “sjielep Bues
Ay} Ypm ajge} au} ul usalb ““'s Buoeds Joyoue wnwiuiw 8y} uey) Jajlews aq jou |eys Buioeds Joyoue ay] (e

001 3 06 08 [ww] 2y
JUSWIADIOUIBI JO ddUNHU|

(an93]s N-SIH UM NAH)

wajsAs Joyoue YAH

(*Pss + )60 = Yy

L | G660 | 060 | S80 | 080 | G0 | 020 | 90 | 090 | S50 - - :
(N®s/s +1)6'0 = Ng

nm.;ow\m

! 60 | 80 | 20 | 90 | s‘0 | ¥'0 | €0 | Z0 | L0 ==
s/s

|eon0 8y} Uey) Jojlews aoue)sip abpa AI1aAs Joj palapIsuod a4 jsnw siojoe) Bupuanyul asay]

(e Buroeds uoydue jo asuanju|

‘aoue)sip abpa
ejop Bumes

By} yum ajge} ayy ul uaAIb "o aouejsip abpa WwNWIUIW By} UBY) JB|leWwS 84 Jou [[eys douejsip abpe ay) ay)l (e

(%0 +1)G°0 = *Y

2 G6'0 | 060 | G8'0 | 08'0 | G2'0 | 02'0 | §9'0 | 09'0 | SS'0 N " -
(N*op +1)-g'0 =Ny
, , ) ) ) ) ) ) ) ®R0j0g 0+ L0 =

3 /6’0 | ¥6'0 | 160 | 88°0 | S8'0 | ¢80 | 640 | 920 | €40 = " n -
NP9+ 2'0 = N4
amcuﬂ\o

I 6°0 8‘0 L0 90 S0 0 €0 z'0 10 =

9/2
(e @oUe)SIp abpa Jo dduanju|
90IAI8s AJOSIApE [B01UYD3) 1}IH JOBJUO0D ases|d ‘0z pue G| = 9Py jo ejep ubisep 104 (g
yibus| apis Ww 0G| YIM saqnd Uo painseaw ‘yjbualis aAIssaIdwoD 8)a1ouo = 29y (e
GGl 8yl vl el zz'L Ll 3 (e N:ANEE\ZmN\BE%t =9
(90Z AN3)
09/0S O | SS/S¥ O | 0S/0¥ O | S¥/SE D | LE/0ED | 0€/SCD | S2/02 O uoeubisap y3Bualls 2}21U0D

aoue)sisal auod 9)9419U09 uo Yyjbuauls 3j910uod JO dduanjju|

&Em—._\um—._ = n,:&

90UR}SISAI BUOD 9}3J9U0D pue Ino-||nd pauiquiod uo yjdop JuaWPaqd Jo adudNju|

yibus| epis Wi 0G| YIM $8gnd UO painsesw ‘yjbusi)s aAISsaIdwod 9)810u00 = 29y (e

60t 801 20} 90'L v0'L 20t b e 1ol MWNGZ ) = 9
09/0S D | SS/SY D | 0S/0¥ D | SYISED | LE/0E D | 0€/STD | S2/0Z D (902 AN3)
uoneubisap yjbuais aja1ou0)

2ouejSISal BUOD 9)219U0d pue Ino-||nd pauiquiod uo yjbualls 9}219U09 JO ddUdN|U|

sJo0joe} Buiouanpu|

9]210U0D PAYJEIO-UOU O} PIBPISU0D aq Ajuo Jsnw souessisal Bumyidg (e

8'86 9L V'Y 8'ge L'sg INd] °PEN

0z 9L ZIN OLN s azis loyouy
€2-90-110Z anss! ‘9520/5620/50-v.13 Buipiodoe ejeq

S'b =9}, z.mc . %.mh . %d . ._m.c. . z;C -gy. o.uMoZ = ._m.umz @ aoue)sisal m:_u ._Qm :m_wwn_

Noyy . Ny . N'gg . Ny - Ny - 8) . 2P N = 2PEN 9ouR)SISaI BU0D 8}210U09 ublseq

(9n93ls N-SIH Uim NAH)
waj}sAs Joyoue YAH

May 2016

Page 25



26

€102 /80

ay) pue “Ws Buroeds Joyoue wNwWIUIW By} UBY} J9j[BWS 8( Jou ||eys aouelsip abpa ay) pue Buioeds Joyoue ay |

" uBIsa( Joyouy, Uoioas 9as Bulpeo| Jeays pue UoISua} paulquiod Jo-

99¢

Buipeo| Jeays pue uoisus) pauiquiod

Uiy goue)sip abpa wnwiuiw

(e

680} [G5°01 [92°0) [26°6 [29°6 [8€'6 [60'6 [62°8 [05°8 [12'8 [26°L [29°L €€, [¥0°L [v.9 | 06'ZL | o0s‘G
1€°0} [20°0) [#2°6 [S¥'6 [21'6 |88°8 |6G°8 [1€8 208 [€2°L |S¥'L [91°L [2879 [65°9 |09 | €0zl | szs
8.6 [05'6 |22'6 [¥6'8 [99'8 [6€°8 |11 [€8°L [GG°L [Z2°2 [669 [12°9 [ev'9 [SL'0 [28G | 8111 | 00S
9Z'6 [66'8 [2,8 [G¥'8 [218 [06°Z [€9°Z [9€°Z [80°L [18°9 [#5°9 [229 [66'G [22G |s¥'S | se0L | si%
GL'8 |6v'8 [22'8 [G6°L [69°L [2v'L [91°2 [68°0 [€9°0 [9€°0 [0L'9 [€8'S [2G°S [0€'S [0S | S5'6 0S'y
G2'8 [66°L [€L°L [Lv'L |22, 969 |09 [+v¥'9 [81°9 [€6'G [29'G [I¥'G |SL'G |06 [v9¥ | 9278 SZv
G/°, [05°2 [GZ°2 [00°2 [G2'9 [05°9 [Sz2'9 [00'9 [G°G [0G°S [S2'S [00°S [SLv [0Sy [S2v | 008 007
92°, [20°2 [8L°9 [¥S'9 [62'9 [G0'0 [18°G [2G°G [€€°G [80°G [#8'% [09% [9€w [2bv [28¢ | 92 GL'E
G5'9 [GS'9 [ 1€'9 [80'0 [G8'G [19°G [8€°S [¥L'S |16 [89% [¥¥'v [12v [86°C [¥L'€ [1G°e | SS9 0s‘c
98°G [98°G [98°G [€9'G [L+'G [8L°G [96F [€LF7 [1S¥ [82% [90'% [€8°¢ [19°€ [8€€ [SL'e | 98°'G 43
0Z'G [02'G [02'G [02'G [86F [9L% [SS¥ [€€¥ |11y [06°C [89°¢ [ov'e [Sz'e [e0'e [182 | 02'S 00°e
95y |95 [9Sy |95y [9SY [GEY [GL¥ [#6°E [€L°€ [2G°¢ [2ee [11'e [06C [697C [6¥2 | 95 SLT
G6'c [G6'C [G6'C |G6'E [G6'E [G6'C [92°€ [9G°E |9¢e'E [9L'e [96°C [2LT [26T [282 (L2 | s6'€ 0S'C
8e'c [8e'c [8E'c [8E'E [8E'E [8E'E [8E°E [6L°E [00°C [18C [€97 [¥¥'C [S22 [90Z [88°)L | 8e€ (X432
€8'C [€8'C |€8'C |€8'C [€8'C [€8°C [€8C [€8C [G9C [Lv'Z [0€T [2L 2 [¥6°) [22) [6G°)L | €82 00°Z
2€C |2eT [2eT [eeT [eeT (2T (e [eeT [ee [GL2 [86°) [28°) [S9°) [ev'L [2eL | z2eT Gl
¥8'L [¥8°L [¥8°L [¥8°L [¥8°) [¥8°) [¥8°) [¥8°) [¥8°) [¥8°) [89°) [€G°) [8€) |zg'h [207L | +87) 0S‘L
o¥'L [0¥'L [ov'L [ov'L [ov'L [ov'L [ov'L [ov'L [ov'L [or'L [ov'L [92°) [21) [860 [v8°0 | oL sl
00°L [00°} [00°} [00°L [00°L [00°) [00°L [00°) [00°) [00°t [00°) [00°L [88°0 [S2°0 [€90 | 00°) 00°L
G9°0 [S9°0 [S9°0 [S9°0 [S9°0 [S9°0 [S9°0 [S9°0 [S9°0 [S9°0 [S9°0 [S9'0 [S90 [#6°0 [ev0 | S90 SL0
GE'0 [GE'0 [GE'0 [GE'0 [GE'0 [GE°0 [SE°0 [SE°0 [GE°0 [SE°0 [SE°0 [S€0 [s€0 [se0 (220 | se0 050
SZ'}) | 0504 [ 52°6 [ 006 [ S2°8 [0S [ S2'9[ 00'9 | 526 | 0S¥ | S2°€ [ 00°€ | S2°Z [ 05°L | S0 | soyoue |
#y/s sioysue om} jo dnoig albuig ur
G0-([0-€l/s+1) g (Pup)="
v} :90ue)sIsal abpa 83a10u02 U0y , ddUE)SIP a6pa pue Buoeds Joysue Jo sdudnyu|
00'L | €6°0 | 980 | 620 | LL'0 | €9'0 | ¥S'0 | S¥'0 | ¥E'O | 220 L5 o gyt =4
6Lz | se'L | 2 | s0‘L | 60 | SL0 | 90 | s¥o | €0 | SLO ay
SSaUY 21y} [elId)ew aseq Jo aouanju|
z L2 | 0S'L | se €zl vLL 10°) l !
008l -506 | oS8 .08 oSL 0L 059 009 | oSS - o0 g a1buy

abpa 991y ay} 03 Jejnajpuadiad uonoalip ayy pue paijdde peoj usamiaq ajbue jo asuanjyu|

(en3]s N-SIH ynm NAH)

wia)sAs Joyoue YAH

May 2016

Page 26



- [:IE] Anchor Technology

Setting Operation

Hilti HVA Adhesive System

Versions : HVU capsule + HAS-E or HAS-ER
Reference : Product Information / Fastening Technology Manual

Setting Operation:

1. Drill the anchor hole with dimension according W
to installation details. 7

2. Clean the drilled hole with the blow-out pump.

3. Insert the adhesive capsule (HVU) into the hole.

4. Drive the threaded rod (HAS-E or HAS-ER) into 97/ 7

the hole up to the depth of embedment mark ’// 7 |
using hammer drill with the setting tools (TE-C- 4 mml.uu|1l.1l.n|1l.u|mw}1:]::[
E or TE-Y-E) e P
207
s
Or

Using double nut setting method.

5. If wusing TE-C-E or TE-C-E setting tools, ﬂ
immediately tip hammer drill sideways back &
forth gently to “break off” the setting tool from
the rod.

Or ® b

7
I}1I1H'|'|1'|Illlll'l'.'|'|1'|'|'l\llI[[[I:]
VS

s

If using double nut setting, leave the rod adapter
remaining attached and allow gel time to pass.

NI\

Page 27 May 2016



- =TT

Anchor Technology

Setting Operation

6. For double nut setting, remove the rod adapter
only after the cure time was passed.

S
/

g//’
///
[ //;/_
.////
7

iy

O tore

X

7. Put the part to be fastened in place and tighten
the nut after the adhesive has completely cured.

Base material Gel time | Curing time
temperature
(OC) tgel tcure
-5-0 60 min 5h
0-10 30 min 60 min
10-20 20 min 30 min
20-40 8 min 20 min

/
//,/

LTV TU LT

R

77
%

ey

Timst

Page 28

May 2016



- =TT

Anchor Technology

Setting Operation

Hilti HVA Adhesive System + HIS-N and HIS-RN

Versions : HVU capsule + HIS-N or HIS-RN

Reference : Product Information / Fastening Technology Manual

Setting Operation:

1. Drill the anchor hole with dimension according
to installation details.

2. Clean the drilled hole with the blow-out pump.

3. Insert the adhesive capsule (HVU) into the hole.

4. Set the anchor sleeve (HIS-N or HIS-RN) by
using hammer drill with HIS-S setting tools such
that it is flush with the base material surface.

passed.

5. Leave the setting tools or rod adapter remaining
attached and remove it only the cure time was

6. Put the part to be fastened in place and fasten
the part using bolt or others.

Base material Gel time |Curing time
temperature
(OC) tgel tcure
-5-0 60 min 5h
0-10 30 min 60 min
10-20 20 min 30 min
20-40 8 min 20 min

Page 29

May 2016



30

YOUR REF 3e@E+gsR: 729-519

N OUR REF #2#463) in BD/GR/SEG/PPA(G)
Buﬂdﬂgs Depariment PAX EISIE: 2626 1762
E F 8 TEL & 2626 1583
Hilti (Hong Kong) Limited &F June, 1997
17/F, Tower 6,
China Hong Kong City,
33 Canton Road,
Tsimshatsui,
Kowloon.
Attention: Mr. Denny Wu
Dear Sir,
Pr ' for building materi

I refer to your letter dated 19 May, 1997 concerning the above.

2. Please be advised that there is no provision under the Buildings

Ordinance for the Building Authority to approve any proprietary building products.
Under the Buildings Ordinance, authorized persons and/or registered structural
engineers are required to supervise building works including the selection and
installation of proprietary building products and to certify compliance with the
Buildings Ordinance upon completion of works. They are therefore responsible for
ensuring the health and structural safety requirements, inter alia, of these building
products in the building projects which they have been appointed by the developer to
co-ordinate and supervise. It is also their responsibility to ensure these products have
been installed in accordance with the manufacturers’ specifications and complied with
the Buildings Ordinance and Regulations.

3. . In establishing the acceptability of the proprietary products in building
works, reference may be made to the performance standards laid down in Building
(Construction) Regulations 1990 and the current Practice Note for Authorized Persons
and Registered Structural Engineers 140 in which performance requirements for
compliance are given. Reliance may also be placed on the test/assessment report
prepared by a recognized laboratory or an equivalent establishment.

4, Before the proprietary products are installed in a building project, the
authorized person and/or registered structural engineer appointed for the project should
be approached by the manufacturers or their agents for advice and guidance. Prior
approval/acceptance from the Buildings Department is not required.

5. Generally, all relevant information supporting the use of the proprietary

products in building works under the Buildings Ordinance should be submitted
associated with the prescribed plans for approval on project basis.

/ Notwithstanding....

Page 30 May 2016
ongkok, Kowioon, Hong Kong. %ﬁj‘yﬁﬁﬂfﬁﬂﬁﬂuﬁ‘biomﬁab‘l‘ HE- A _

~ 12/F-18/F Pioneer Centre, 750 Nathan Road




31

YOUR REF kiiis: 729-519

— — 113 OUR REF *2#{$3) in BD/GR/SEG/PPA(G)

Ba Bulldl.ilgs Department FAX EXMmE: 2626 1762

‘ E F & TEL Mz 2626 1583
-2 -

6. Notwithstanding the above, the proprietary building products to which

‘No objection’ letters have been given are still recognized as accepted constructional

. materials to be used in building works under the Buildings Ordinance provided that all

conditions specified in the letters are satisfied. You are informed that the procedures
currently adopted by the Building- Authority for processing statutory approval of plans
which involve the use of these proprietary building products remain unchanged.

7. It is a fact that the ‘No objection’ letter giving general acceptance to a
proprietary building product is based on the technical information submitted to this
Department at the time of its application. Should there be any significant modification
to these technical information, the product will certainly be considered as ‘new’
product. The acceptability of such proprietary product in building works should be
evaluated by the authorized person and/or registered structural engineer appointed for
the project as mentioned above. ‘

8. Should you have any further queries to the above, please feel free to
contact the undersigned or Mr. T.C. Kan of this office at phone no. 2626 1583.

Yours faithfully,

(K.S. Chang)
Technical Secretary/Structurat

for Building Authority

tek/

: May 2016
Page 31
{3/F-18/F Pioneer Centre, 750 Nathan Road, Mangkok, Kowloon, Hong, l?ung. e L IMINE 2 O -E O oty it 5 RV ]




32

Page 32

May 2016



33

Page 33

May 2016



34

Page 34

May 2016



Page 1 of 6
according to 91/155/EEC
Company: Hilti
Telefon: Telefax:

Product name: Hilti HYU M8 x 80 to M39 x 360

Date of revision: July 24, 2000 Replaces edition of: March 31, 2000

1. Chemical product and company identification
Product name: Hilti HVU
Manufacturer: Hilti GmbH, Industriegesellschaft fir Befestigungstechnik

HiltistralRe 6, D-86916 Kaufering
Importer: Hilti

Telefon:
Fax:

Emergency telephone number:

2. Composition / Information on constituents

Chemical composition: Adhesive anchor, contains urethane methacrylate resin with
reactive diluent, dibenzoyl peroxide, phlegmatized

Constituents:

CAS-No.
<10 % hydroxypropyl methacrylate 27 813-02-1 Xi; R36, R43
<2% dibenzoyl peroxide 94-36-0 Xi; R36, R43

3. Hazard identification

Constituents of the product HVU are irritant for eyes and skin. Skin contact may
cause sensitisation.

4. First-aid measures

Eyes: Immediately flush with plenty of water for at least 15 minutes. Get medical
advice.

Skin: Remove contaminated clothing. Wash skin with soap and water.

Inhalation: On breathing in a large amount of vapour, get out into the fresh air. Seek
medical advice, if necessary.

Ingestion: Immediately rinse mouth and then drink plenty of water. Seek medical
advice.

HVU_MSDS_EN
Page 35 May 2016



Page 2 of 6
according to 91/155/EEC
Company: Hilti
Telefon: Telefax:

Product name: Hilti HYU M8 x 80 to M39 x 360

5. Fire-fighting measures

Extinguishing media:
suitable: carbon dioxide, dry chemical, foam, water spray
not to be used: --

Special fire-fighting procedures:

In a fire, toxic or irritating / caustic gas may be generated. Wear self-contained
breathing apparatus and protective clothing.

Medical attention is necessary for symptoms which obviously come from inhaling
combustion fumes.

Hazardous combustion products:
COx, NOx, water, carbon

6. Accidental release measures

Personal precautions:
Remove ignition sources. Ensure adequate ventilation or self-contained breathing
apparatus. Avoid contact with eyes or skin.

Environmental precautions:
Keep away from drains, surface water, ground water and soil.

Cleaning procedures:

Take / clean up using mechanical means. Remove remainder with solvent and
liquid-binding material.

Dispose of according to local regulations.

7. Handling and storage

7.1 Handling:
Observe expiry date.
Don’t use damaged capsules.

7.2 Storage:
Store in original packing in a cool (max. +25°C) and dark place.
Keep away from direct sunlight.

HVU_MSDS_EN
Page 36 May 2016



Page 3 of 6
according to 91/155/EEC
Company: Hilti
Telefon: Telefax:

Product name: Hilti HYU M8 x 80

to M39 x 360

Respiratory protection:
Eye protection:
Hand protection:

Other:

Industrial hygiene:

water. Use a protection-cream

8. Exposure control and personal protection

safety glasses

Suitable gloves with chemikalienbestandiger
Teilbeschichtung z.B. Nitril-beschichtete
Baumwollhandschuhe

Protective clothing

Avoid contact with eyes and skin. Remove soiled or soaked clothing at once. On skin
contact, clean with a mild cleanser (polyethylene glycole) then wash with soap and

Form:

Colour:

Odour:

Changes in condition:

Density:
Density [g/cm3] (°C)

Bulk density [kg/cm?]

Vapour pressure [mbar] (°C)

Viscosity:
Viscosity [mPaxs] (°C)
Efflux time 4 mm nozzle [s]
Efflux time 8 mm nozzle [s]

Solubility [g/l] (°C):
in water

pH value ( g/l H,0;°C):

9. Physical and chemical properties

2-component foil capsule with liquid
and powder

component A (resin): yellowish liquid
component B (hardener): white
powder

like ester

component A: polymerisation > 110°C
component B: decomposition tempe-
rature dibenzoyl peroxide > 50°C

component A (resin): 1.1
component B (hardener): 1.3 (20)
component B: 0,6

component A: <0,1 (HPMA) (20)

component A:<300 (23) DIN 53 015
22 (23) DIN 53 211

component A : 107 (HPMA) (25)
component B : insoluble

not applicable

HVU_MSDS_EN

Page 37 May 2016




Page 4 of 6
according to 91/155/EEC
Company: Hilti
Telefon: Telefax:

Product name: Hilti HYU M8 x 80 to M39 x 360

Flash point [°C]: component A: >100 DIN 53 213
Ignition temperature [°C]: not determined DIN 51 794

Explosive limit [vol%]:
lower: not determined
upper: not determined

Thermic decomposition [°C] component B: above +50°C
beginning of decomposition

Autoignition temperature The product is not self igniting. ASTM D 2155
[°CI:

10. Stability and reactivity

Conditions to avoid:

- At storage temperatures above 30°C, dibenzoyl peroxide in component B
decomposes / degrades and the resulting carbon dioxide make the capsule swell.
- Exposure to direct sunlight can cause the resin to polymerise.

This makes the adhesive anchor unusable.

Materials to avoid:
None

Hazardous decomposition products:
None, if used for the intended purpose.

11. Toxicological information

The classification takes place according to the determination process in 88/379/EEC.
On local contact, there can be irritation of the eyes, skin and mucous membranes.
Sensitization is possible on contact with the skin.

12. Ecological / environmental information

Keep away from drains, surface water, ground water and soil.
Class of risk for water: 2.

HVU_MSDS_EN
Page 38 May 2016



Page 5 of 6
according to 91/155/EEC
Company: Hilti
Telefon: Telefax:

Product name: Hilti HYU M8 x 80 to M39 x 360

13. Disposal considerations

Foil capsules that have become unusable, e.g. expiry date exceeded must be
disposed of as special waste in accordance with legislation.

Type of waste:

On handing over small amounts to communal collection points: EAK no. 20 01 12
(adhesives and synthetic resins)

Disposal of large quantities via disposal companies: EAK no. 08 04 02

(old adhesives and sealants containing no halogenated solvents.

14. Transport information

Road transport -
GGVS/ADR

Rail transport --
GGVE/RID

Technical designation: |- -

Ocean transport --
GGVSee/IMDG

Supplement for - -
maritime traffic:

Air transport --
IATA-DGR

Not dangerous good in the meaning of the above
regulations.

15. Regulatory information
Classification according to 67/548 EEC and 88/379 EEC directives and to their
supplements.
HVU is an irritant preparation.
Observe the precautionary measures usual when handling chemicals.

Labelling:

Symbols: ’ ‘

Danger identification Xi, irritant

Contains: dibenzoyl peroxide
hydroxypropyl methacrylate

HVU_MSDS_EN
Page 39 May 2016



LT

Material Safety Data Sheet Printing date: 30.11.2004
Page 6 of 6
according to 91/155/EEC

Company: Hilti

Telefon:

Telefax:

Product name: Hilti HYU M8 x 80 to M39 x 360

Risk phrases:
R36
R43

Safety phrases:
S3
S37/39
S26

S28

Further information:

Irritating to eyes.

May cause sensitization by skin contact.

Keep in a cool place.
Wear suitable gloves and eye protection.

In case of contact with eyes, rinse immediately with plenty
of water and seek medical advice.

After contact with skin, wash immediately with plenty of
soap and water.

Classification as per VbF (D): not assumed

Observe Council Directive 94/33/EC of 22 June 1994 on the
protection of young people at work § 2 and / or
(DE) Jugendschutzgesetz § 22, § 29

16. Other information

Body issuing data sheet:
Hilti Entwicklung Elektrowerkzeuge GmbH
Hiltistrasse 26 D-86916 Kaufering Tel: 08191 906310

All information and recommendations contained herein are based on data believed to be
correct. However, no guarantee or warranty of any kind expressed or implied is made with
respect to the information provided.

HVU_MSDS_EN

Page 40 May 2016




Job / Application Reference

Project Name

2011 Tamar Development

Product Name: Adhesive capsule HVU

Contractor
Project Type:ASD
CREATIVE FACADE ENGINEERING LTD

Application

Fixing on steel structural

2011 Tamar Development

GAMMON - HIP HING JOINT VENTURE

Signage fixing

2011 Tamar Development

HOP HING CONSTRUCTION &

Fixing on steel structural

2012 Kai Tak Development

2013 Ha Ko Po Village

Airport Development
2011 WS TEER

WING KEI STRUCTURAL METALWORKS CO Steel beam/bracket fixing

Project Type:Buildings
SIMBEL LTD
Project Type:HKAA

LOEDIGE ASIA LIMITED

Stone cladding fixing

Machine/Equipment fixng

Airport Development
2011 WS TBER

WAH TUNG METAL ENG CO LTD

Safety system fixing

Airport Development
2011 WS TRER

WING HING CONSTRUCTION CO LTD

Metal gate fixing

Airport Development
2011 WS TBER

WING MING ENG (HK) LTD

Road barrier fixing

Airport Development
2012 WSTERUR

LOEDIGE ASIA LIMITED

Gondola fixing

Airport Development
2012 WS TEER

LOEDIGE ASIA LIMITED

Machine/Equipment fixng

Airport Development

2012 WIBTFEHRE SIEMENS LTD Electrical services fixing
Airport Development
2013 WIBFEHRE AA Machine/Equipment fixng

Airport Development
2013 WSTERUR

EAST GAIN METAL WORKS ENG LTD.

Hand rail fixing

Airport Development

2014 WISTFEHRE AA Machine/Equipment fixng
Airport Development

2014 WS TEER GAMMON Safety system fixing
Airport Development

2015 HWIBFEERE GAMMON Safety system fixing

Macao Studio City
2014 EEM

Project Type:Macau - Casino & Hotel

Paul Y & Yau Lee JV

Underwater fixing

Windsor Arch
2014 AFHEX

Great Harvest

Balustrade fixing

Wynn Palace
2014 XAIE2=

Leighton

Plumbing & drainage fixing

Windsor Arch
2015 FFIHEX

Great Harvest

Balustrade fixing

Windsor Arch
2015 AFHEX

2011 DISNEYLAND

Great Harvest
Project Type:Others
KIN WIN ENGINEERING LTD

Others

Plumbing & drainage fixing

2011 Ocean Park Development HANG KEI ENGINEERING SERVICE LTD
2013 Poly-U Redevelopment
2013 Poly-U Redevelopment

Electrical services fixing
Interior finishings fixing
Interior finishings fixing

FOU YING ENGINEERING CO LTD
Project Type:Railway

Tuen Mun Station

2011 Development (TMTL 447)
Tuen Mun Station

2012 Development (TMTL 447)

HOP KEE (KAM FAI) ENG CO LTD Steel beam/bracket fixing

BOTH ARTS ENG CO Block work gap sealing

701-704 Tower A, Manulife Fiancial Centre, 223 Wai Yip Street, Kwun Tong, Kwoloon , Hong Kong
HotlinE28238 8118 May 2016 1



Job / Application Reference m
Product Name: Adhesive capsule HVU

Date Project Name Contractor

Application
Tuen Mun Station
2012 Development (TMTL 447) BOTH ARTS ENG CO Roofing fixing
Tuen Mun Station

2012 Development (TMTL 447) TAT SHING CONSTRUCTION Steel beam/bracket fixing

701-704 Tower A, Manulife Fiancial Centre, 223 Wai Yip Street, Kwun Tong, Kwoloon , Hong Kong
HotlinE282%3 8118 May2016 o





